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Group All Questions: No
Sub-Section Number: 1
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Question Shuffling Allowed : Yes

Question Number : 1 Question Id : 54592712323 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
& 561185 15 giverl with one term wrong. Select that wrorg term from the given alternatives,

FH1Zz, HE&O, JN240, LOc40, WT 1440
Options:

1. % FH1Z

2. % NT1440

2% JNz40

4. % LQE40

Question Number : 1 Question Id : 54592712323 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
e STgeRH T T B, e 6 ue ug Tea 81 fau M et § 39 e 0 g

FH1Zz, HEGOD, JN240, Loe40, T 1440
Options:

1. % FH1Z

2. % NT1440

3% IMNz40

4. ¥ LOE40

Question Number : 2 Question Id : 54592712324 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
A& series is given with one term rmissing. Select the correct alternative from the given ones that will complete the

series,

A4, D7, 510, J13, 7
Options:

1. % MN1&

2. % MI15
3. ¥ MIE
4 % M15

Question Number : 2 Question Id : 54592712324 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
e SRR T man g, R & o ug qm 71 T o ot # @ o wgt e i, S Srge O e

&Ad, D7, G110, 713, 7




Options:

1. % IMN16
2. % MI1E
3. ¥ M1E
4. % IMN1E

Question Number : 3 Question Id : 54592712325 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
& Series 1s given with ore terml missing. select the correct alternative from the given ones that will complete the

Series,

IO, ZDL, WY, 7
Options:

1. % TFT

2. % TS50

3. ¥ TTF

4 % TST

Question Number : 3 Question Id : 54592712325 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

e S e T 8, e & v v o 1 Ry T et & & g e R g, S e w
CIO, ZDL, W,

Options:

1. % TFT

2. % TS50

3. ¥ TTF

4 % TST

Question Number : 4 Question Id : 54592712326 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
In the fOllOWiﬂg questiorn, select the odd letter fletters from the Ziven alternatives,

Options:

1. % AFI
= ¥ GLF
3% MO
4 % RVZ

Question Number : 4 Question Id : 54592712326 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
TEmET wg | o my Hwedt o & oy argr) Rt @ giem

Options:
1. % AFEI

2. ¥ GLP
2% MO



4. % RVZ

Question Number : 5 Question Id : 54592712327 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Ir1 the fOllDWiﬂg questiorn, select the odd word from the given alternatives.

Options:

1. % Angle
2. % Power
3. # Force
4 ¥ Tesla

Question Number : 5 Question Id : 54592712327 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
TaimiET wg | o my Ewedt o & oy aeg w1 giam

Options:
1. % iy
2 % g
3% e
4. & T

Question Number : 6 Question Id : 54592712328 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
In the following questior, select the odd word pair from the given alternatives.

Options:

1. ® Boxing : Ring
2. % Race : Track
3. ¥ Pitch : Cricket

4 % Tennis - Court

Question Number : 6 Question Id : 54592712328 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
TratataT wey # for 7o fHesat & & foww geg 3w 7 g

Options:

1. % gt o
2. ¥ gz iw
3. o T fFae
4 % T W

Question Number : 7 Question Id : 54592712329 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
In the fOllOV-.?iﬂg question, select the related word pair from the Ziven alternatives.

Calendar ; Date . 7
Options:



1. ¥ Dictionary : Words
2. % Work : Joule
3. % Power - Watt

4. % Chernistry : Subject

Question Number : 7 Question Id : 54592712329 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
PrafafaT wa #f fag iy et & & G seg g @t R

G LT T N
Options:

1. Sea@i g
2 ® @l S

3. % Toew o die
4 ® v - g

Question Number : 8 Question Id : 54592712330 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
In the following question, select the related words from the given alternatives.

Malaria : Mosquitos 0 Cholera 7
Options:

1. % Ajr

2. ¥ Water

3. % Medicine

4. % Touch

Question Number : 8 Question Id : 54592712330 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Tt we # fou 7 feweut # 9 Heldd geal # 1 g

AT . Hegt o FeAeT : 7
Options:

1. % g

2 qEf

3 % gaw

4. % g

Question Number : 9 Question Id : 54592712331 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
In the following question, select the related letter pair from the given alternatives.

ELPQ  POQEL 7
Options:

1. % FGKL : KLFG
2. ® MMNOP : POMN



3% YMZIO: QLMY
4. % NOOE  RONO

Question Number : 9 Question Id : 54592712331 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
TEmET wg | o my Hwedt § & Feti sfa® I w g

ELPCG  POEL 2 7
Options:

1. ¥ FGKL : KLFG
2. % MMNOP : POMN
2% YMZO  OZMY

4. % NOZRE  ROQNO

Question Number : 10 Question Id : 54592712332 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Inn a certain code language, 'DEMO 15 called a5 'EASY, 'EASY' 15 called as 'BOOK, 'BOCK 15 called as "COLLD",
"COLD 15 called as "WINTER', "WINTER” 15 called as DRY'. What do we read?

Options:

1. % BOOK
= ¥ COLD
2. % WINTER
4 % DRY

Question Number : 10 Question Id : 54592712332 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

U fAtdE T vy H 26T F a mwm%’mm G T T3 5 3 U 0 R T = = B = e 4 s - . Y= e I o e 4
Options:

1. ¥ firgm

o ¥ FET

3 % |

4 % gar

Question Number : 11 Question Id : 54592712333 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

In a certain code language, ‘DRAW is writterl as ‘23", ‘DUET’ is writter1 as ‘25, What is the code for ‘BGOS in
that code language?

Options:
1. % 24

2. % 25
3. 23
4 % 26

Question Number : 11 Question Id : 54592712333 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 1 Wrong Marks: 0.25

U AE w9 H DREAW @123 SMraET s, ‘DUET’ @125 5/ 9T 51 59 ®ig 9T § ‘EGOS & FHIE 74T 57
Options:

1. % 24

o % 25

3. v 23

4. % 25

Question Number : 12 Question Id : 54592712334 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Irn & certain code language, 'DEFUSE' 15 written as FHIZYL'. What 15 the code for "CHEW' in that code language?

Options:

1. ¥ EKIE
2. % EKET
2. % EK]BE
4 % EKIC

Question Number : 12 Question Id : 54592712334 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

T Tatde wi ymr # DEFUSE &1 FHIZYL T7aT IET 8 50 &g 9T # ‘CHEW &7 1S #4757
Options:

1. % EKIE

2. % EKET
2. * EKJE
4 % EKIC

Question Number : 13 Question Id : 54592712335 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Six persons Ajay, Sanjay, Rajesy, Shyam, Vivek and Arun are sitting around a circular table facing towards the
centre. Only Sanjay is sitting between Arun and Ajay. Rajeev is second to the right of Vivel, Only Vivek is
Sitting between Arun and Shyarm. wWhich of the following staternent(s) is/are correct?

[. Sanjay is sitting to the imrmediate right of Ajay.
II. Vivek is sitting to the immediate right of Shyam.
III. Shyam is second to the left of Ajay.

I%. Arurn is not opposite 1o Bajeey.

Options:
1. % Tandll

2. ¥ [ and III
z. % Cnly 111
4. % IIland IV

Question Number : 13 Question Id : 54592712335 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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1. &1, a9 & qAd ol AT &aT 8]
11 Tade, s & QT gt &K dar 2]
111, =7, S5 oF "t &

1. &, Tt o faueia Ag1 &l

Options:
1. % 1 &Il

= W Il
. ® Foe I
4 801 sV

Question Number : 14 Question Id : 54592712336 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

A, B, C, I E Fand G are seven students of a class. Three of them are girls. Armong all these students, two
students study physics, two study chernistry, two study biology and one studies mathermatics. Mone of the
girls study Chemistry. C i a girl. A studies physics. G studies chemistry. E and F studies sarme subject. B
studies mathematics. Which subject does C study?

Options:

1. ¥ Physics

2. % Biology

2. % Mathematics
4. % Chemistry

Question Number : 14 Question Id : 54592712336 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

A, B, C, D E, F 3l G UF &yl o T 519 51 58 & o 19 A= il gl 54 @ gt § & 2F 3 Iifds ued &, Sf warad 99 ned
%m TEd & A U T0T EdT 51 BT HT ASe T T e el a8l C U A d g1 A AT 31 G TEET
TEdT 31 E &% F 90 ug nad 31 B itia 02dT 31 C & a7 (96T 7ad 1 27

Options:
1. fifdar

2 % Sl
3. ® it
4. ® o EEE

Question Number : 15 Question Id : 54592712337 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

& is mother of B, D is C's sister. C is the only son of his father E. If D is paternal aunt of E, then how Dand C
respectively are related to each other?

Options:

1. * Father and Daughter
2. % Husband and Wife
2. % Sister and Erother

4. % Mother and son



Question Number : 15 Question Id : 54592712337 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

A BHITARETR D, C A agT &1 C, 30 TG E @7 gohelial 03 81 AT D, B 6T g g, 1 HHN D 3T C U gad & Hdl el g7
Options:

1. % T s gt

2 % gif ofr umt

3 o g el g

4 % [Ty

Question Number : 16 Question Id : 54592712338 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Eisthesonof A Bssister ChasasonDand a daughter E. How 15 D related to A7

Options:

1. % MNephew

2. % Erother

2. % Maternal Uncle
4. ¥ Grandson

Question Number : 16 Question Id : 54592712338 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

B, AFIAAEHR GGAC FUF @D AR TF GATE 81 D, A & FH Halled 27
Options:

1. % arffa

2 ® 9

2% [

4 ¥ U

Question Number : 17 Question Id : 54592712339 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Five children A, B, C, D and E have five articles bottle, ball, bat, bag, and car These articles are of green, blue,
orange, pink and yellow colour. Each child has only one of those articles. Mo two children has the same article.
The bottle is green and is owned by neither E nor &, D has a vellow article.  has a bat. E has a car which is not
blue. The bag is pink. which of the following staternent(s) is /are Correct?

[. & has green colour bag.
II. Z has yellow colour bat.
III. E has orange colour Car.
IV, C has blue colour bat.

Options:
1. % IandIII

2 ¥ 1l and IV
2. % Cnly 111
4. % onlyl

Question Number : 17 Question Id : 54592712339 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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1. A o OTE 5% 797 &7 a%dT 51

I1. C & U7 & €77 &7 &eell gl

I11. E o 0T =TT 237 & ST 21
1. C & UTE el 7 & deal 5]
Options:

1. % 1 &Il

o W 1] &IV
. ® Foe I
4 B el

Question Number : 18 Question Id : 54592712340 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

In the following question below are given some staternents followed by some conclusions based on those
staterments. Taking the given statements to be true even if they seern to be at variance from commonly knowrl
facts. Read all the conclusions and then decide which of the given conclusion logically follows the given
Staternents.

Staterments:
[. All pens are chairs.
II. All chairs are books.

CONClusIons:
[. Some books are chairs.
II. Sorme chairs are pens.

Options:

1. % Only conclusion I follow

2. % Only conclusion I follow

2 % EBoth conclusion I and IT follow

4. % MNeither conclusion follow

Question Number : 18 Question Id : 54592712340 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
et T o v g e AR 39 wTg 39 et Ut ATenid g fwerd T o 81 U 0 et @ |l 7, o 39 /e A
Fet & Fgar e &t e ud offe O Trerffed od T T o @t & Tomad, for o st S s o¥ gieETa 2

el
1. Tt we
11, &t e e 8
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Options:

1. % et Tmepd 1 SIgeo &eal g

2 % drafel Teay 11 STTaeo & &

3. 1 Tmes [ J2T I SgE FWd 5
4. % g off forvard argee 7 AT 2



Question Number : 19 Question Id : 54592712341 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

In the following questicon below are giverl some statermnents followed by some conclusions based on those
staternents. Taking the given statements to be true even if they seem to be at variance from commonly known
facts. Read all the conclusions and then decide which of the given conclusion logically follows the given
Staternents.

Staternents:
[.5omeTareF.
II. Mo T is M.
III. &11 M are k.

Conclusions:

I. NMoMisT.

II. Some FareT.

III. Some K are P,

Options:

1. % Both conclusion [ and IIT follow
. % Both conclusion IT and I follow
2. % Both conclusion [ and 1T follows

4. % Meither conclusion follow

Question Number : 19 Question Id : 54592712341 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
el Ta My weg g g o 3 ag 3 Sl O AT 7 ey o T 9 Taw T et T 6Rt 0, o 99 9 A
et & Tt N T Tomand 0 offy T Frerfive @ 7 Tam o @t & Tomars, o g et o ST R gREETT B

ERuE

1L 5T, P8

II. ®E T, M =51 21
I T4 M, K 3
Termenty:

I HE M, T A1 81
II. FFF, T 8

I FTE, P &
Options:

1. % =t e I T2 111 Sre a5
2 % g1 Ty 11 T2 ] SFe #d &
3. gt Tmed [ J2T Il argE FWd 5
4 % g ot fomerd argaeor g @ar g

Question Number : 20 Question Id : 54592712342 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
In the following question, select the related number from the given alternatives.

216 2254387
Options:

1. # 5EZ

= ¥ B03

3. % 457



4. ® g53

Question Number : 20 Question Id : 54592712342 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Tt we # fau 0 feeweut # 4 Heldd g w i g

216 225428 7
Options:

1. % 5E3

= ¥ B03

3. % 457

4 % 53

Mental Ability 2

Group Number : 2
Group Id: 545027612
Group Maximum Duration : 0
Group Minimum Duration : 0
Revisit allowed for view? : No
Revisit allowed for edit? : No
Break time: 0
Group Marks: 20
Revisit allowed for group Instructions? : Yes
Maximum Instruction Time: 0
Minimum Instruction Time: 0
Merital Abilitv 2
Section Id : 545927612
Section Number : 1
Section type: Online
Mandatory or Optional: Mandatory
Number of Questions: 20
Number of Questionsto be attempted: 20
Section Marks: 20
Display Number Pand: Yes
Group All Questions: No
Sub-Section Number: 1
Sub-Section 1d: 545927734
Question Shuffling Allowed : Yes

Question Number : 21 Question Id : 54592712343 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0.25
In the following question, select the related number from the given alternatives.

FTESE 4408 - 64397



Options:

1. % 2986
2. % 4786
I % D276
4. ¥ 2498

Question Number : 21 Question Id : 54592712343 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Tt W # fou 0 feemeat § 9 Heldd g w e

7G58 4408 6439 7
Options:

1. % 2986

2. % 4786

3% 3276

4. ¥ 2498

Question Number : 22 Question Id : 54592712344 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

In the following question, select the number which can be placed at the sign of question mark (7) from the
given alternatives.

12 16 21| 26 15 |11
13 | 2496 18| 9828 20| ?

Options:

1. % 4320
2. % 5920
2% 2700
4. ¥ 2200

Question Number : 22 Question Id : 54592712344 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

AT weg # w7 et # 9w g (7) @ T U S 6T HEAT R

12 16 21| 26 15 | 11
13 | 2496 18| 9828 20| ?

Options:
1. % 4320

2. % 6920
3% 2700
4. % 3300

Question Number : 23 Question Id : 54592712345 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25



In the following question, select the number which can be placed at the sign of question mark (7) from the
Ziverl alternatives.

34 | 86 | 36 | T3
82 | 95 | 94 | 90
37 | 72| 67 | 81
9 | 60| ? | 64

Options:
1. % 35

2. ¥ 29
2% 49
4 % g3

Question Number : 23 Question Id : 54592712345 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
e meg # T i feent ® & way g (7) o ST 0T ST STet T @ e

34 | 86 | 36 | T3
82 | 95 | 94 | S0
3T | 72 | 67 | 81
9 | 60| ? | 64

Options:
1. % 29
2. ¥ 29
2% 49
4 % 53

Question Number : 24 Question Id : 54592712346 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
If & means "»', ‘B means "+, 'C means ‘+ and T means -, then 20 C 8 A 12E24 4 16 C2D 15 =7

Options:
1. % 28
2. % 28
3.9 72
4 % 54

Question Number : 24 Question Id : 54592712346 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
i A wranf o, B owrenf s, O wrent+ mem Dy wrenf < EL AT 20 CEAI2ER4A16C 3D 15 =7

Options:
1. % 38

2 % 23
3. ¥ 72
4. % g4



Question Number : 25 Question Id : 54592712347 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
If 'F means "+’ "2 means “x', ‘B means '+ and 'S means -, then 1SR 12034 P17 4R B8580 =7

Options:
1. % 17
= ¥ 23
3% 49
4 % 53

Question Number : 25 Question Id : 54592712347 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

o P owTapf -, (O owmranf o, BowTerf 4wy wrepf - L dT1SR 12 Q24P 17 Q4R 8580 =7
Options:

1. % 17

= ¥ 39

3. % 49

4 % 53

Question Number : 26 Question Id : 54592712348 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
In the following question, select the related number from the given alternatives.

217121 : 96 8513697
Options:

1. % 278

2. % B35

= % 5oz

4. ¥ 452

Question Number : 26 Question Id : 54592712348 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
FraimiET wa # T my fEewedt o & detde g w1 g

21712196 851369 7
Options:

1. % 278

2. % 536

3. % L9z

4 ¥ 487

Question Number : 27 Question Id : 54592712349 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25



In the following question, select the related number from the given alternatives.

179: 131 2487
Options:

1. % 72

2. ¥ 324

2% 96

4 % 108

Question Number : 27 Question Id : 54592712349 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
FraimiET wa # T my fEewedt o & detde g w1 g

179: 131 2457
Options:

1. % 72

= ¥ B4

2% 96

4 % 108

Question Number : 28 Question Id : 54592712350 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
In the following questiorn, select the missing number from the givern series.

2,4, 16, 256, 7
Options:

1. % 24766

2 ¥ B5535

2. % TEZEG

4 % 9E7EE

Question Number : 28 Question Id : 54592712350 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Toafea weg o 1 e e # 9 oF afw S H
2,4, 16, 256, 7

Options:

1. % 24766

2 ¥ B5536

3. % TEZ2B6

4 ® 98766

Question Number : 29 Question Id : 54592712351 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
In the following question, select the missing nurmber from the given series.

Z, 8,158, 22, 50,7



Options:
1. % 60
=z % 74
3. % B0
4.9 72

Question Number : 29 Question Id : 54592712351 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

AT ey # &1 T SgeT H W o S S I
2,8, 18 32, 50,7

Options:

1. ® B0

= % 74

3. % 80

4 ¥ 72

Question Number : 30 Question Id : 54592712352 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Identify the diagrarn that best represents the relationship among the given classes.

Wornern, Teacher, Doctor
Options:

00O

® ©)] O [

Question Number : 30 Question Id : 54592712352 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
T W =T AT H el T T = o s o Hele 1 @R e T gl

g, Sy, S
Options:



® [© Q) [°8

4

Question Number : 31 Question Id : 54592712353 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
In the given figure, how many balls are pink and yellow both but not green’?

Green balls
Pink balls

Yellow balls
Options:
1. % ¢
2 7
3 % 4
4 %5

Question Number : 31 Question Id : 54592712353 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

ST s # Topaeit 71 TRl sfte et S, weg £ ET &7

£ 3




Options:
1. %8
= 7
3% 4
4 % 5

Question Number : 32 Question Id : 54592712354 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Shivam walks 10 kil in west direction, then he turns left and walks 16 k. He again turns left and walks 10
k. He finally turns left and walks 10 kim. How far is he now from his starting point?

Options:

1.9 6 km
2. % 10km
2% ZEkm

4 % 15km

Question Number : 32 Question Id : 54592712354 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

T ohsdm e 7 10 T At g g, W ag ey T3 16 fr At a3 a5 O &g TR 10 Al a@ar s a5
mmm%mlaﬁﬁﬁm%aﬁmﬁ%ﬁgﬁmﬁﬁmgﬁ? e

Options:

1.9 ¢ T
2. % 10 WA
3. % 26 TR
4. % 15 AT

Question Number : 33 Question Id : 54592712355 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Ishaan travels 10 krm towards north, then turns right and travels 24 km. He again moves right and travels 3
krn. How far and in which direction is ishaan rnow from the initial point?

Options:

1. % 27 km, Morth

2. % 25 km, MNorth - west
3. % 25 km, MNorth - east

4. % 27 ki, South

Question Number : 33 Question Id : 54592712355 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

ST IO T A1 10 T At 2mam @t 8, 107 218 &7 g2aT 7 ST 24 TRt 2mar aear 1 97 1O 26 o1 gear ¢ &l 3 Bt
ATAT HEAT 51 4T aﬁmﬁgﬁmmgwﬁmﬁmﬁ@

Options:
1. % o7 fpdr, oo

= ® oS TR AT, T - U
3 ¥ o5 AT, IO - O
4 ® o7 WEAT, IiE



Question Number : 34 Question Id : 54592712356 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
In the following question, select the odd figure from the given alternatives.
Options:

A O

Question Number : 34 Question Id : 54592712356 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
TrafeRaT na §, four My fawedt & & Touw eyt @1 giom
Options:

Fy O

3 ¢ B2




Question Number : 35 Question Id : 54592712357 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
In the following question, select the odd figure from the given alternatives.

Options:

3. v

= [ b

Question Number : 35 Question Id : 54592712357 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Tl ma ® foaw My et # & B syt @t gl

Options:

3.9

b

Question Number : 36 Question Id : 54592712358 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
In the following question, select the odd figure from the given alternatives.



Options:

[#) 0
1 ks [+]
o
o #® o
o o
3. v 9
(o]
o o
4 ® >

Question Number : 36 Question Id : 54592712358 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

et wa & Ty My et # & fouw amgh =1 g

Options:

Question Number : 37 Question Id : 54592712359 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25



If a mirror is placed on the line AE, then which of the answer figures is the right image of the given figure?

b
d R

A=~xrooeeeevB
Options:

B

aQa

1. %
9=
7
2
q &
3 # b
PIE
4 #® b

Question Number : 37 Question Id : 54592712359 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

T T 2T T AR YT T T N, 9T ST T 9 st i 4 i o st v e A W ne gt

d &

A~cereeeoeeeB

Options:

E|P

o o



9|2
3.*9

PIE
4&39

Question Number : 38 Question Id : 54592712360 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0.25
Which answer figure will complete the pattern in the question figure?

7\
m% 7

Note: For this question, discrepancy isfound in question/answer. So,this question isignored for all
candidates.

Options:
N
N

¥
N

ks

7
N\

o,
‘x‘m

Question Number : 38 Question Id : 54592712360 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
I H IO ATFIT e AT o AT BT T Hl?

ﬁﬁ%%ﬁ
2 ?
Note: For this question, discrepancy isfound in question/answer. So,this question isignored for all

candidates.
Options:




8
N

L/
N

A

L/

Question Number : 39 Question Id : 54592712361 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
From the given answer figures, select the one in which the question figure is hiddern fembedded.

JT

Options:

Question Number : 39 Question Id : 54592712361 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25



& ¢ Foe sl B & 39 I angd w gy R # wa sngf Rz B

J

Options:

Question Number : 40 Question Id : 54592712362 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
How many quadrilaterals are in the given figure?

Options:
1.9 3

o #® g
=
4 # o

Question Number : 40 Question Id : 54592712362 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25



1 Tt st # fopee e 27

Options:

1.932

2 %5

=% 1

4 ® 2

Gereral Avwarenessl

Group Number : 3

Group Id: 545027613

Group Maximum Duration : 0

Group Minimum Duration : 0

Revisit allowed for view? : No

Revisit allowed for edit? : No

Break time: 0

Group Marks: 20

Revisit allowed for group Instructions? : Yes

Maximum Instruction Time: 0

Minimum Instruction Time: 0

General Awarenessl

Section Id : 545927613
Section Number : 1
Section type: Online
Mandatory or Optional: Mandatory
Number of Questions: 20
Number of Questionsto be attempted: 20
Section Marks: 20
Display Number Panel: Yes
Group All Questions: No

Sub-Section Number: 1
Sub-Section 1d: 545927735
Question Shuffling Allowed : Yes

Question Number : 41 Question Id : 54592712363 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Ehangra is the folk dance of which of the following State?

Options:
1. #® Gujarat



2. ¥ Punjab
3. % Harvana

4 % Jamru and Kashroir

Question Number : 41 Question Id : 54592712363 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
JMET FETeET § & g 0 &7 JlF g 57

Options:

1. % TR

2 ¥ o

= % gl

4 % S FOT WK

Question Number : 42 Question Id : 54592712364 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
In which state of India, Janjira fort is situated?

Options:

1. #® Tarril Madu
2. % Ittar Pradesh
2. ¥ Maharashtra

4. % Madhvya Pradesh

Question Number : 42 Question Id : 54592712364 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
ST TFeT R o o v | TR 87

Options:

1. % Fitmrg
2 ¥ T wEa
3. ¥ TERTE
4. ¥ meguda

Question Number : 43 Question Id : 54592712365 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
which of the following is a MNepali folk dance?

Options:

1. % Maruni

2. % Tamang Selo
3. % Garba

4. % Both Maruni and Tamarg Selo

Question Number : 43 Question Id : 54592712365 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
TRTeTRET O & W= A7 o Ueh Tl sl 3o 87

Options:



1. % [rer

2. % g EAr

3% TEm

4. V' AT T T HAT ST

Question Number : 44 Question Id : 54592712366 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
"Mishagandhi Nritya Utsay” is celebrated in

Options:
1. # Tarrnl Madu

2. ¥ Kerala
3. % West Bengal
4. % Telangana

Question Number : 44 Question Id : 54592712366 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
“TersmTrelt 7o Joaa
Options:

1. % gie g

2 & I

3. ® O e

4. ® FErET

Question Number : 45 Question Id : 54592712367 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
which of the following is central banking institution of Tndia'?

Options:

1. % Punjab Maticnal Barik
2. % Reserve Bank of India
2. % Indian Overseas Bark

4 % pwis Bank

Question Number : 45 Question Id : 54592712367 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
TrafeiET § & & A & g o qe ge
Options:

1. % OATe S ofem

2 yrdtyg foad dw

3. ® £REe sfiavdrd S

4 % yiFed dF

Question Number : 46 Question Id : 54592712368 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25



EBanks are required to keep some reserves in liquid form in the short period before providing credit to
custormner. This is called

Options:

1. % Bank Rate

2. % Cash Reserve Ratio

2. ¥ Statutory Liquidity Ratio

4. % Repo Rate

Question Number : 46 Question Id : 54592712368 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

TR B TR &1 & Uge, <febl 1 AFHTa e § F0 ot SRS WTERIT T8 W1 T seaT 51| 81 56 SIgad & ______ HET AT &1
Options:

1. % dwax

2 % afad Twer i aruT

2. ¢ Fifetede AT s

4 % ey

Question Number : 47 Question Id : 54592712369 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Who manages Foreign Exchange in India?

Options:

1. ¥ Reserve Bank of India
2. % SEEI

2. % Finance Ministry

4. % RERA

Question Number : 47 Question Id : 54592712369 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
WX | Tt gar 7 Wered ®19 31 &7
Options:

1. ¥ et foad de

2 % O

2. ® fog o

4 %@

Question Number : 48 Question Id : 54592712370 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
which of the following is not a natural indicator?

Options:

1. % Litrmus

2. % Turmeric

2. ¥ Phenolphthalein

4 % Hibiscus



Question Number : 48 Question Id : 54592712370 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
TEmET § & T U U d e qa® Al a7

Options:

1. % Teead

o % el

3.V AT
4. ® iewed

Question Number : 49 Question Id : 54592712371 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
______ ohjects give out their own light.

Options:

1. ® Cpagque

Z % Lurminous
3. # Transparent

4. % Translucent

Question Number : 49 Question Id : 54592712371 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
______ TE ST WS o o | gl
Options:

1. % ammeadt

2 v im

3. ® gugdt

4 % gt

Question Number : 50 Question Id : 54592712372 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

An odometer reads 4600km and after 1 hour, it reads 4800km. What does the speedometer read, considering
uniform motion?

Options:

1. % 100km/h
Z % 200km/h
3. % 200kmth
4. % 20kmlh

Question Number : 50 Question Id : 54592712372 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

T T (BTSTHIEE) 4600 T dl gufar g, ot 1 oe & ag 4300 Tl Sufar {1 91 UHan 1id @1 S g0 =TeamT
(EHTE AT 2T 24T 87

Options:

1. % 100 W Ar e

2. % 200 fE At raeT



3. % 300 fE A e
4 % o0 T jHer

Question Number : 51 Question Id : 54592712373 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
which of the following is an undesirable effect of friction?

[. Friction in ball bearings
II. Fricticn between road and wheeals
III. Fricticrn betweer riail and wall

Options:

1% Cnly I

2 % COnly 11

2. % Only 11 and 111
4 % Cnly [ and 111

Question Number : 51 Question Id : 54592712373 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
TrraiTET A & T o &7 U ST 1 T 57

1. aTe et o eur

11. F=F 31T uigal & ei=r e
111 T & Siaw & o g
Options:

I

2 ® dall

3. ® SEer ] TuTlll

4 ¥ Fge ] Tl

Question Number : 52 Question Id : 54592712374 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
T T Tt & et STHIT 0T 1 e Iedt i @i 3oy ®e- o ol Witd #edT 57

Options:

1. % IEd

2. oty e
% % oiEad wiEr

4. e

Question Number : 52 Question Id : 54592712374 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Horrmones released from which gland stimulate testes to release testosterone?

Options:

1. % Liver

2. % Pituitary gland
3. % Adrenal gland
4. % Pancreas



Question Number : 53 Question Id : 54592712375 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Anabaenaisa ______.
Options:

1. % Monera

2. % Protista

3. % Fungi

4. % Plantae

Question Number : 53 Question Id : 54592712375 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
AT O 2

Options:

1. ¥ @i

2 % fifeeT

z R G

4 ® it

Question Number : 54 Question Id : 54592712376 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Who are known as "Amphibians” of Plant Kingdom”

Options:

1. #¥ Thallophyta
Z % Pteridophyta
3. ¥ Bryophyta

4. ® GYITMOSPeriTs

Question Number : 54 Question Id : 54592712376 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
“UTa 271 o JHTER T g1 ST 57
Options:

1. ® SdmmEeT

2 % TheEmme

3. ¥ AT

4, ¥ Togremd

Question Number : 55 Question Id : 54592712377 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Wwhich enzyme is responsible for breakdown of starch into simple sugars inside the mouth?

Options:

1. #¥ Pepsin

Z % Trypsin

3. ¥ Salivary Amylase



4. % Pancreatic Armylase

Question Number : 55 Question Id : 54592712377 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:

1. % uitea

o % e

3. ¥ @R O

4. ¥ e UHe

Question Number : 56 Question Id : 54592712378 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
which of the following crops are oilseeds?

I. Groundnut
II. Mustard
III. Sunflower

Options:

1. % landIl

2 % [TandIll
2. % landIII

4. %1, 11 and III

Question Number : 56 Question Id : 54592712378 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

FrfTaT & & H 6w e 2

1. JEeAr
11, gt

111 gt

Options:

1. % I d9mll

2. % 11 q9rlll
I % 1 99rlll
4 91 11 Ferlll

Question Number : 57 Question Id : 54592712379 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
river rises in bBrahrmagiri Hills.

Options:

1. ¥ Kaveri

= % Krishna
3. % Narmada

4. % Luni



Question Number : 57 Question Id : 54592712379 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

. TET T IgH wg i agTieat # gt i

Options:
1. v s
2. % gEr
3. % qar
4 % AT

Question Number : 58 Question Id : 54592712380 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
The southernmaost range of Hirmalayas 15 kncwrl a3

Options:

1. % Purvarnchal
Z % Hirmadri

3. % Shivalik

4. % Greater Hirmalavas

Question Number : 58 Question Id : 54592712380 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
TEATET W Sere I S &y ______ o & H AT AT 2

Options:

1. % gatge

2. ¥ T

3. TdareE

4. % mEH BHET

Question Number : 59 Question Id : 54592712381 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Udagarmandalarm (Ootv) 15 situated o1 ______ hills.
Options:

1. ® Anantagiri

= ¥ Nilgiri

3. # Rajmahal

4. % Khasi

Question Number : 59 Question Id : 54592712381 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
FEHEAA (T ______ mETieal U e B
Options:

1. % aami

o, & JAn

= ® AR
4 ® mr



Question Number : 60 Question Id : 54592712382 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
which of the following are rivers of Ganga basin?

[ Kosi
II. Gormti
III. Gandak

Options:

1. ®¥ landll

2 % [TandIll
2. % Il andl

4. %1, 11 and III

Question Number : 60 Question Id : 54592712382 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

TrafeTEe it & & 17 a2 & A w i g g7

I ®rEr
II. TIeet
111 Tigw®

Options:
1. % I d9mll

2% 1 qET Il
S % I 97l
4 % 11 qerlll

ereral Avwarenessz

Group Number : 4
Group Id: 545927614
Group Maximum Duration : 0
Group Minimum Duration : 0
Revisit allowed for view? : No
Revisit allowed for edit?: No
Break time: 0
Group Marks: 20
Revisit allowed for group Instructions? : Yes
Maximum Instruction Time: 0
Minimum Instruction Time: 0

GeETleral Awarenessz

Section Id : 545927614
Section Number : 1

Section type: Online
Mandatory or Optional: Mandatory
Number of Questions: 20

Number of Questionsto be attempted: 20



Section Marks: 20

Display Number Panel: Yes

Group All Questions: No
Sub-Section Number: 1
Sub-Section 1d: 545027736
Question Shuffling Allowed : Yes

Question Number : 61 Question Id : 54592712383 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Dhauladhar range 15 located in which state?

Options:

1. % Hirmachal Pradesh
= % Uttar Pradesh

2. % Arunachal Pradesh

4. % Sikldm

Question Number : 61 Question Id : 54592712383 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
TATENE 4 Toped Ty of Te2r &7

Options:

1. BuEe nega
o % T W

3. ¥ TR WA

4. ® f&igH

Question Number : 62 Question Id : 54592712384 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Tirthankaras' are associated with which religion?

Options:

1. % Judaism
= % Sikhism
= % Jainism
4. % Buddhism

Question Number : 62 Question Id : 54592712384 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
el o end & HaTeT g7

Options:

1. % ogarod
o ® T ed
z ¥ o e
4 % gig e



Question Number : 63 Question Id : 54592712385 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
which of the following ruler belonged to Lodi Dynasty?

Options:

1. % Alam Shah

2. ¥ lbrahim Lodi
3. % Jahandar Lodi

4 % Muharmmad Shah

Question Number : 63 Question Id : 54592712385 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Trraie T # & & AT T AL G4 & aT?

Options:

1. % AW 48

2. gelled wie)
3. % SEieR A
4. % HEwE A

Question Number : 64 Question Id : 54592712386 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Who deciphered Brahmi script?

Options:

1. # John Marshall
2. % Howard Carter
3. ¥ James Prinsep

4 % arthur Evans

Question Number : 64 Question Id : 54592712386 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
AT T @ anf feree Taeprar?

Options:

1. ® 09 Arder
2. ® TS oY
2 S e
4 % amfviaw

Question Number : 65 Question Id : 54592712387 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
which of the following played an important role in the formation of Indian MNational Congress?

Options:

1.9 A O Hume

2. ® ‘Warren Hastings
3. % John Nicholson

4 % alewander Lawrence



Question Number : 65 Question Id : 54592712387 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

T 1 TR I o e 8 Foioitas & & foree ageaqu! iaewr gy
Options:

1. ¥ T ge

o % HfeTRiEiE

2 ® F e

4 R SRSt AN

Question Number : 66 Question Id : 54592712388 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Which nationalist leader propoundead the ‘Drain Theory'™

Options:

1. % Romesh Chandra Dutt
2. % Jawahar Lal Nehru

2. # Mahatma Gandhi

4 % Dadabhai Naoroji

Question Number : 66 Question Id : 54592712388 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

e T T gt (21 ey T argandt =ar 7 e
Options:

1. % Wy o

2. % TR A A5E

3. % mErenr et

4. FErE T

Question Number : 67 Question Id : 54592712389 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
The Second Battle of Panipat was fOnght betweern Herm Chandra Vikramaditya and

Options:

1. % Shah Jahan
2. % Babur

3. ¥ Albar

4 % Mir Oasim

Question Number : 67 Question Id : 54592712389 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

U0 T Tl 127 e B g TeepATieear e ______ T ST A= T T 4m
Options:

1. % gt
2. % g
3. ¥ a7



4, ® AR T

Question Number : 68 Question Id : 54592712390 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
which is the fourth-highest civilian honor in India?

Options:

1. % Padma Vibhushan
2. ¥ Padma Shri

2. % Arjuna

4 % Padma Ehushan

Question Number : 68 Question Id : 54592712390 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
AT H =T Halel =T AT TR F a7 57

Options:

1. % oy femgmr
2. o AT

3 % arq

4, % TETET

Question Number : 69 Question Id : 54592712391 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

The book "The Accidental Prirme Minister” is based on the lifeof ______
Options:

1. % Atal Bihari Vajpavee

2. % Narendra Modi

2. ¥ Manmchan Singh

4. % Inder Kurnar Gujral

Question Number : 69 Question Id : 54592712391 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
"g TFd e mEl et geaw ______ e U SRR )

Options:

1. % e &g arut
2. % FguEr

3. ¥ maaEa g

4 % EoT AR TRTA

Question Number : 70 Question Id : 54592712392 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
whom among the following has been honoured with the Padma Shri 2019 in the field of art-dance?

Options:
1. % Tiger Shroff

2. % Remo D'souza



2. % Prabhu Deva
4. % wadhuri Dixit

Question Number : 70 Question Id : 54592712392 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
ToieET & & e Far-—aog & g7 1 wer At 2019 & ST T = a7

Options:

1. % TN A1

2. % TSR

3. ¥ Ry

4. % el R

Question Number : 71 Question Id : 54592712393 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Central Salt & Marine Chernicals Research Institute 1s situated in

Options:

1. ¥ Gujarat

= % Chhattisgarh
2. ® Punjab

4. % Uttrakhand

Question Number : 71 Question Id : 54592712393 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

T AT o AEAT AT ST ae # e 2
Options:

1. & TeRIT

2. % g

3 % o

4 % FWEE

Question Number : 72 Question Id : 54592712394 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Who has been appointed as Director of Research and Analysis Wing (RAWLIN June 20197

Options:

1. ®* Sharad Kumar Saraf
= % Arvind Kumar

2. ¥ Samant Kumar Goel

4. % Shefali Juneja

Question Number : 72 Question Id : 54592712394 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

9 2019 H, srgeen o fegur & @0 F o & e | e g Tame mane
Options:

1. ® i°g FAR TI%



2 % aRidg gur
3. ¥ OHT FHR A
4 % TR AT

Question Number : 73 Question Id : 54592712395 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
The nowel "Celestial Bodies" 15 written by

Options:

1. # Han Kang

2 % Jokha Alharthi
2. ® David Grossman
4. % Lydia Davis

Question Number : 73 Question Id : 54592712395 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

" Teeae se M U __ T Tora T
Options:

1. % g

2. ¢ Frar aregTedt

3 ¥ 2z ueaa

4. % forizem 2w

Question Number : 74 Question Id : 54592712396 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
which of the following word is NOT mentioned in the Preamile?

Options:

1. #¥ Justice
= ¥ Solidarity
Z. % Equality

4. % Fraternity

Question Number : 74 Question Id : 54592712396 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

FraferaT i & #i a7 e S2 i # SleataT w9t &
Options:

1. % =g

Q.JW
= % gaqT
4 % geAm

Question Number : 75 Question Id : 54592712397 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Fart I of the Indian Constitution deals with?

Options:



1. ¥ The union and its territory
= % Citizenship
2. * Fundamental Rights

4. % Directive Principles of State Policy

Question Number : 75 Question Id : 54592712397 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
T 17 WlreT &7 9T | FeFee |ated 57

Options:

1. & &g o 3o 87

2. % quTiERT

3. % g e

4. % I AT Feaw T

Question Number : 76 Question Id : 54592712398 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Article 52 of the Indian Constitution deals with which of the following?

Options:

1. % Lok Sakbha Speaker
= % Vice President

3. % Prime Minister

4. ¥ President

Question Number : 76 Question Id : 54592712398 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
W 17 |ierer #7 afgeds 52 el § & e qarem 27

Options:

1. % ST aresy
2, % guemE

3 % e

4. & TE

Question Number : 77 Question Id : 54592712399 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Through 14th Constitutional Amendrment Act to the Indian Constitution, which UT was added o the Indian
Lnion®

Options:

1. #* Daman & Diu
=z % Goa

2. ¥ Pondicherry

4. % Dadra & Nagar Haveli

Question Number : 77 Question Id : 54592712399 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25



AW 7 Aferem # 14 & Farrem arfai-am o aread o, e g aTita 0 &1 ARd 1 g9 # ST T ar?
Options:

1. % gaa et g

2 % TEr

2 ¢ i

4, % ZIEAT AT A FAAT

Question Number : 78 Question Id : 54592712400 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
which of the following pair of plaver- sport is NOT correct?

Options:

1. ¥ Harika Dronavalli- Hockey
2. % Sunil Chhetri - Football

2. * Gautam Gambhir- Cricket

4 % Sharath Kamgal- Table Tennis

Question Number : 78 Question Id : 54592712400 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
FaimET # § &9 a7 e -Ed w1 W @51 T8l 87

Options:

1. ¢ g gmdeeti- g1
2 ® gAler 84T - geate
3. ® Mgy mdR- T

4. ® T FHA- TAA 1T

Question Number : 79 Question Id : 54592712401 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
which is the first country to win Cricket World Cup, Football World Cup and Rughy World Cup?

Options:

1. % South Africa
2. ¥ England

3. #® Australia

4 #* MNew Zealand

Question Number : 79 Question Id : 54592712401 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Tordre Taeer o0, Foald dre &0 T Tal dva F0 AT ST TgeT oo T A7 57

Options:
1. % gigm B{Eﬁ o

o ¥ EE
3. % afedferar
4 ® Atz

Question Number : 80 Question Id : 54592712402 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 1 Wrong Marks: 0.25

The WEBC Asia silver welterweight championship was held in

Options:

1. % Switzerland
2. ¥ Thailand

3. % South Kores

4. # Singapore

Question Number : 80 Question Id : 54592712402 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

qu_ﬁi AT =T Feay deetae dinaEET o s &t e 2
Options:
1. % %EE\GE?E
= W EfT
3. % gigu wiicar
4 % FIT
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Group Number : 5
Group Id : 545027615
Group Maximum Duration : 0
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Revisit allowed for view? : No
Revisit allowed for edit? : No
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Group Marks: 20
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Number of Questions:
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Question Shuffling Allowed :
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Question Number : 81 Question Id : 54592712403 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
If N = 432 x 457, then what is the unit’s digit of N7

Options:
1.% 2
2 ¥4
3% B
4 ® 7

Question Number : 81 Question Id : 54592712403 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
AE N = 432 % 457§, I7 I & SeTe 300 7497 o7

Options:
1. %2
= ¥ 4
3. %8
4 ® 7

Question Number : 82 Question Id : 54592712404 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

1 1
HA=IF——T—mﬁB:3+————ummWMHHMvmmMA+B?

3+——T 2+—lT
24— 3+—
3
Options:
1. ¥ 275748
2. % 285137
3. % 29531
4. % 285141

Question Number : 82 Question Id : 54592712404 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

1 1
uﬁ‘rﬂ=2+—]ma=3+—1§'mg\+ B #T AT 4T 72

3+— 24 ——
2+1 3+1
3 2
Options:
1.9 275148
2 % 28537
3. % 29521

4. % 25141



Question Number : 83 Question Id : 54592712405 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
K when divided by 3, 4 and & leaves a rernainder 2, 3 and 4 respectively. What can be the value of K?

Options:

1. % 4839and 2729
2. % 1249 and 2439
3. % 1559and 17939

4 % 5449 and 5689

Question Number : 83 Question Id : 54592712405 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
3, 4 JATE & ST e O SUha FHa: 2, S J9T 4 27 51 K ®T A9 91 51 9dT 27

Options:

1. % 4829912729
2. % 1249 J47 2439
3. ¥ 1559 99T 1799
4 % 5449 T 5689

Question Number : 84 Question Id : 54592712406 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
9341¥B2Y is divisible by 72, What is the value of XY + 2 + )7

Options:
1.9 38
2. % 18
3% 29
4 % 26

Question Number : 84 Question Id : 54592712406 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
9341HECY, 72 ST 91 XY + 20 + ¥) FTAM FAT 57

Options:
1.9 38
2. % 18
3% 24
4 % 26

Question Number : 85 Question Id : 54592712407 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

which of the following statement(s) isjare correct? [ 999999994 is divisible by 7, 11 and 13 II. 233333 is
divisible by 7 and 11 but not 12 101 444444 is divisible by 7 and 12 but ot 11, IV 555555 is divisible by 7,
11and 12,

Options:
1. % 11, 101

2 % LIV



3. VIV
4 %1

Question Number : 85 Question Id : 54592712407 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

FamET A g e A d Fa ag g/e7 [ 999899999, 7, 11 72 13 & feriea 8111 333333, 7 qur 11 & g g g
12 & 7gh 111 444444, 7 F97 13 o g oig 11 F =g 1V, 555555, 7, 11 797 13 9 framiae &1

Options:

1. % 11,101
2 % 11V
= N
4 %]

Question Number : 86 Question Id : 54592712408 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Whatisthevalueof 0.4 + 016 x 032 -+ 0.8-016 + 0.32 x 0.64 + 0.22 + 0,96 x 0,457

Options:

1. % 0326
2 ¥ 03204
=% (0288
4 % 0276

Question Number : 86 Question Id : 54592712408 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
04+016 =032 +08-016+- 032 x 0644+ 0232 - 096 x 045 a:-‘rmw%?

Options:

1. % 0326
=z ¥ 0204
2% 0288

4. ® 0276

Question Number : 87 Question Id : 54592712409 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

K when divided by 7, 8, 9 leaves a remainder 2 in each case. What can be the value of K? [ 60558 11, 7055 I11L
EQS0TY. 9054

Options:

1. % [, Il and III
2 ¥ Iland Il
2 % [land IV

4 % [l and IV

Question Number : 87 Question Id : 54592712409 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0.25
7, 8, 9 9 TaTT e WK meder TN # AWEe 2 ST R K FT AW FaT a7 [ 6058 11 7058 111 60501V, 9084




Options:

1. % 1,11 Tl
= ¥ 11 q9r Il
=R I AT
4. % 111 9oV

Question Number : 88 Question Id : 54592712410 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Whatisthevalue of (5 x 6 x99+ 10- 15+ 14)/(18 x 15 + 2 4+ 33 - 21)7

Options:
1. % 1427
2 % 1481
3. % 13761
4 ¥ 13|51

Question Number : 88 Question Id : 54592712410 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
IS ®E X9+ 1D—15+14:|;|:18><15+3+33—21)mmw%?

Options:

Question Number : 89 Question Id : 54592712411 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

If & = Least Common Multiple of (2133, (4/9), (516), (7112)and BE = Highest Cormmmen Factor of (2]8), (6]7),
then what the value of (&4 + B) = AY

Options:

1. ¥ 2180 27
2 % 257079
3. ® 235024
4 % 222063

Question Number : 89 Question Id : 54592712411 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
g;?{g = (213, (4)9), (5/6), (7]12) T TgaH GV FATE = (3(8), (5 7) 1 HgaH GHMdd &, af (4 + B) x A ®T A F4T

Options:
1. % 2180 27

2. % 257079
3. ¥ 2350.24
4. % 222083



Question Number : 90 Question Id : 54592712412 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Ifj—k—m 2 9.3_1676 2[! d{j—%

, then what is the value of (A + B) + C?
8 5 8 155 6

mlm
mlw

Options:
1. % 4365/632

!
2. % 4189/810
3. ¥ S083/720
4 % GEE1/219

Question Number : 90 Question Id : 54592712412 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
uﬁﬂ—%ﬂ 22 8=19.5, D qpc-

5 5 B
- s EKE—E%,HT{A+B)+CWWWT§‘?

Options:
1. #® 4365/632

!
2. % 4189/810
3. ¥ 5083|720
4 % GEE1/219

Question Number : 91 Question Id : 54592712413 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Marked price of a calculator is Bs 2600 If a discount of 42 percent is given, then what is the selling price of
the calculator?

Options:

1. ® Rs 2068
= % Rs 2052
3. % Rs 2044
4. % Rs 2088

Question Number : 91 Question Id : 54592712413 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

T Fegeied @1 g g 3600 T 81 afE 42 uidad & 0w ge f 1T 2, T1 Fegeied ®7 o grd FaT 57
Options:

1. ® 2068 w2

> ® o052
I ® 2044 e
4 ¥ D088 w0

Question Number : 92 Question Id : 54592712414 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
The average of M1, N2, N2 and N4 is 20. If the average of N2 and N3 is 40, then what will be the average of
M1 and 447

Options:



1. ¥ 20
2. % 40
3% 320
4 % 15

Question Number : 92 Question Id : 54592712414 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
N1, N2, N2 3T N4 &7 of|a 30 31 9 N2 ToT N3 @7 69T 40, TN 1 T907 N4 37 26T F27 5m?

Options:
1.9 Z0
2. % 40
2% 30
4 % 15

Question Number : 93 Question Id : 54592712415 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Average of 18 values is 40, If two values 42 and 28 are removed and five values 60, 75, 85, 16 and 80 are
added, then what will be the new average?

Options:
1. % 56
= ¥ 48
3.0% 4]
4 % G3

Question Number : 93 Question Id : 54592712415 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

18 ﬂ@'l‘;ﬂlmﬂﬂ@ﬂﬂﬂ'ﬁlﬂ 2 AT ST AT 42 F7 28 FeT RU T & S a=g A9 60, 75, 85, 16 A7 80 i Ru My 2, a1 747 ftaa
FT ;

Options:
1. % 5

2 ¥ 48
3% 41
4 % 53

Question Number : 94 Question Id : 54592712416 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
If 7S percentof L = 7/4 of B, then whatis L R?

Options:
1. % 1:
2. % 7
3% 4
4 & 7

[N I e R R

Question Number : 94 Question Id : 54592712416 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 1 Wrong Marks: 0.25
AL FTFSURAT = R @774, ITL: R 7T 27

Options:
1. % 1:
2. w7
3% 4
4 & 7

[F R

Question Number : 95 Question Id : 54592712417 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
If K is 220 percent of T, then T i5 how much percent less than K?

Options:

1. % 54 25 percent
2. % 0962 percent
3. % 5B 38 percent
4 ¥ 56 52 percent

Question Number : 95 Question Id : 54592712417 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
K, T #1230 0idad &, a1 T, K & Torg= nidag 7 27

Options:

1. % 54 258 nidaa
o ® 5o erudaT
% % 5538 i

4 « SE 52 OidaT

Question Number : 96 Question Id : 54592712418 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

The weight of K and M are in the ratio of 2 4 respectively. Sum of their weights is 140 kg If the weight of K is
increased by 50 percent and the weight of M is decreased by 20 percent, then what will be the percentage
change in the sum of their weights?

Options:

1. % 20 percent
2. % 125 percent
3. % 9.09 percent
4. % 10 percent

Question Number : 96 Question Id : 54592712418 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

K T M T 9K TR 3 - 4 & o | 71 S99 R 90 140 TR 81 i K 91 S0 Ui # S T 8 a2 M @ aw
20 UiFaT & T T |, 97 3% AR o I # R nided g g

Options:
1. % 20 uigerT

= ® 12 cuidad
= ¥ 900 uideT



4 % 10 gidaT

Question Number : 97 Question Id : 54592712419 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
The cost price of a book is 5/ 9 of the selling price. What is the profit percentage?

Options:

1. % 120 percent
2. % 125 percernt
2. ¥ 30 percent

4 % 75 percent

Question Number : 97 Question Id : 54592712419 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

o JEder & & Jrdl Jod Ord 1 5/ 9 81 @ wid o am 27
Options:

1. % 120 oidaa

2. ® 125 A

3. ¥ B0 nideT

4 % 75 it

Question Number : 98 Question Id : 54592712420 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

The loss incurred on selling an article for Rs 980 is twice of the profit earned on selling the same article for Bs
1210 What is the cost price of this article?

Options:

1. % Es 1400
2. % Rs 1250
2. ¥ Rs 1200

4 % Hs 1320

Question Number : 98 Question Id : 54592712420 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
980 TUL H U T6q FI o= U 5T gIi, Ty 1 1310 B0 § sf2i U BT T AT ol ST B e 1 0 e a4l 37

Options:

1. % 1400 sur
2. ® 1250 w0
3 ¥ 1200 T

4 ® 1320 w0

Question Number : 99 Question Id : 54592712421 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
& watch is s0ld at a profit of 22,22 percent. If its cost price and selling price increase by Bs 10 and Es 25
respectively, then the profit percentage increases to S0 percent. What is the original cost price of the article?

Options:



1. ® Rs570
2. % Hs &0
3. % K590
4. ¥ Rz B0

Question Number : 99 Question Id : 54592712421 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

U U2 33,33 Ui & @ U st T2t 81 i gaT o grd a9 fdere grd 0 10 2020 9207 25 70 & o AT g, a1 o
Wi ad ag@t S50 Hidad 5 T 8 ﬂﬁmﬂﬂﬂﬂﬂwg{[

Options:

1. % 70708

= % 30w
S ¥ g0 w
4 % 60 T

Question Number : 100 Question Id : 54592712422 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

& and E invest in a business in the ratio 12 : 15 and their annual profit were in ratio 4 : 2 . If 4 invested the
money for 10 months, then for how many months did E invest his money?

Options:

1. ¥ & months

2. % Brmonths
= % 4 months

4. % 7 months

Question Number : 100 Question Id : 54592712422 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

ATMBEATF MR T 12 15 % arqura | Forerar o qem I9e anie @19 4 ¢ 3 & o § am afg & = 10 A7g & g 39
Forter TR 9, B = Tt mg o o B Toverer T

Options:
1. ¥ 60w
2. % ZHF
3% 9WF
4 % 7 AR
Arithmetic Abilityz
Group Number : 6
Group Id: 545927616
Group Maximum Duration : 0
Group Minimum Duration : 0
Revisit allowed for view? : No
Revisit allowed for edit? : No
Break time: 0
Group Marks: 20

Revisit allowed for group Instructions? : Yes



Maximum Instruction Time: 0
Minimum Instruction Time: 0

Arithmetic Ability 2

Section Id : 545027616

Section Number : 1

Section type: Online

Mandatory or Optional: Mandatory

Number of Questions: 20

Number of Questionsto be attempted: 20

Section Marks: 20

Display Number Panel: Yes

Group All Questions: No
Sub-Section Number: 1
Sub-Section Id: 545927738
Question Shuffling Allowed : Yes

Question Number : 101 Question Id : 54592712423 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

If two numbers are in the ratio 1 : 4. If their sum is 20, then what is the sum of the squares of the two
numbers?

Options:

1. % 232
2. % 2L5E
3% 264
4 & 272

Question Number : 101 Question Id : 54592712423 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Aty ST a1 4 ¥ argua # B Aty 3T 9T 20 & 91 St dwemsit i ot e < @ i
Options:

1. % 252

2. % ZEE

3% 264

4. & 272

Question Number : 102 Question Id : 54592712424 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Frasad starts a business with Bs 2600, After 4 months Rov joins Prasad as his partner. If the profit after a
vear is divided in the ratic 2 © 2, then how much money Roy invested?

Options:
1. % Es 2100
2. % Hs 8400

3. ¥ Rs 7200



4. % K5 7800

Question Number : 102 Question Id : 54592712424 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

TETg = 2600 T % 1Y U =010 & THam 4 A1 o018 109, FHIE & @1 U7 &1 93g 9 T Aig gk af Fag a2 3 &
ST H wET AT L T 0 A

Options:

1. % 2100 7o
2. % 5400 T
= o 7200 T

4 ¥ 7500 Ty

Question Number : 103 Question 1d : 54592712425 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
REs 9000 gives Rs 12050 as simple interest in 5 yvears. What is the per annum rate of interest?

Options:

1. % 20 percent
2. % 24 percent
3% 22 percent
4. ¥ 29 percent

Question Number : 103 Question Id : 54592712425 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Q000 T 5 auf # 13050 T TR =47 29 51 Hid o8 =27 &1 Z¢ 747 57

Options:

1. % 20 e
2. % 24 uideT
. % 20 uidea

4 & 2o uigaT

Question Number : 104 Question 1d : 54592712426 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Wwhen kept at cornpound interest (Compounding annually), a sum of money becomes Rs 29160 in 2 years. If
the rate of interest is 8 percent per annurm, then what is the interest for 2 years?

Options:

1. % Rs 2310
Z ¥ s 4180
2 % Rs 4380
4 % Rs 3940

Question Number : 104 Question Id : 54592712426 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
am%?m(a%m T AT 2 aut § 29160 T 5T AT 81 Iie =0 &1 3¢ 8 W9 Wie = &, 7 2 2 &7 <2

Options:



1. % 3310 70
2 ¥ 4160 T
3. % 4380 ¥
4, % 3940 w0

Question Number : 105 Question Id : 54592712427 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Es 45000 are kept at a rate of 18 percent per annum. What is the difference in compound interest and simple
interest for 2 years?

Options:

1. % Rs 1048
2. % REs 1838
3. ¥ Rs 1458

4. % Rz 1244

Question Number : 105 Question Id : 54592712427 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
45000 T4 BT 18 Tiard Wi o &1 3¢ & TaT AT 5 2 Y o Tidig a0 9207 TR s &7 &7a¢ 47 57

Options:

1. % 1048 w2
2. % 1636 7
3. ¥ 1455 ¥
4, % 1244 w7

Question Number : 106 Question Id : 54592712428 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Arnav Crosses a 420 metres wide road in 35 seconds. What is the speed of Arnav?

Options:

1.9 43 2 kmfhr
2. % 446 km/hr
3. % 26 4 kmjhr

4. % 242 km/hr

Question Number : 106 Question Id : 54592712428 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
ST UF 420 Hiet ST 9% ®1 25 He0E H U 47 51 SRAd &1 Tid 7497 57

Options:

1.9 432 T AT/ e
2. % 44 ¢ TF At e
3. % 36 4 TR AT
4, % 24 2 fF At/

Question Number : 107 Question Id : 54592712429 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25



& SE0 metres long train crosses a 700 metres long platform in 84 seconds. How much tirme will it take to cross
a bridge of length 1200 metres?

Options:

1. % 136 seconds
2. % 24 seconds
2. % 96 seconds
4. ¥ 124 seconds

Question Number : 107 Question Id : 54592712429 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

T SE0 HIET dtal famal T 700 Hiet ffe WwehiH B 54 08 § U & ofd [ 51 1300 BT A @il §d & O & | a5
e T JH w17

Options:

1. % 136 gz
o % 34 s
3. % 96 "o
4. ¥ 124 Havs

Question Number : 108 Question Id : 54592712430 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Yinod leaves from Delhi at 8:00 a.m. and reaches Mumbai at 12:00 pom. on the same day. Raghav leaves
FMurmnbai at 9:00 a . and reaches Delhi at 5:00 poor on the sarme day. At what tirne do they meet?

Options:

1.9 11:00a.m.
2 % 11:30am
3% 12:00 pam
4 % 1:00pm

Question Number : 108 Question Id : 54592712430 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

well § 8:00 Teeerar EL) 12:00 SRTg 0¥ g € 9:00 TeperaT
eﬁﬁﬁaﬁ?ﬁ%maommﬁ%?ﬁgﬁﬁﬁ@ T TG 1 T g T T g

Options:

1. % 11:00 qaig
2 % 11:30 qm@ig
3 % 12:00 e
4 % 1:00 RTE

Question Number : 109 Question Id : 54592712431 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

& rmen or 18 bovs can do a work in 60 days. In how many days 4 men and 24 boys can together complete the
sarre work?

Options:
1. % 24 days
2. ¥ 20 days



2. % ZE days
4 % 40 days

Question Number : 109 Question Id : 54592712431 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
6 Uo7 ST 18 Ak U & @ 60 ToF o 9% |wd 8 I9! 1 F 4 [0 J2T 24 @l e o § @1 # a9 57

Options:

1. % 2427
2. ¥ 30T
3 % 36TT
4. % 40 T2T

Question Number : 110 Question Id : 54592712432 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

P alone can do 710 of a work in 14 days. With the help of © he can complete the work in 15 days. In how
many days can  alone do the same work?

Options:

1. % 7Y0days
2 ¥ B0 days
= % B0 days
4 % 90 days

Question Number : 110 Question Id : 54592712432 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

P S13elT 0 19 &1 7/ 10, 14 1T # &0 a1 81 Q B Tgrrar & g #1915 87 8 007 &0 dFa1 81 O e Idt &7 &7 o
T o a7 AFaT 87

Options:

1. % 70feq
2 ¥ E0 T
3 % 580w
4 % 90T

Question Number : 111 Question Id : 54592712433 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Rarm can do half of a work in & days. Raju can do 3/5 of the same work in 12 days. Vivek can do 23 of the
sarme work in 10 days. If they work together, then how much time will they take to complete the work?

Options:

1. ® Sdays

2 ¥ E0[13days
2% B0/17 days
4. % 4days

Question Number : 111 Question Id : 54592712433 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25



T S Tt o amem 0 # qwar 3 7 12 oAt § 0w 5T # & 315 F AT 8 fouw 10 A # Uw g Fe F 2 3 3 awaT )
e o U T HH FG 5, A1 3vg B0 QLT F0 § Fla=1m |y &

Options:

1. % 5faq

2 ¥ 01z TRA
3 % g0[17 TeA
4 % 4%

Question Number : 112 Question Id : 54592712434 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
The diameter of a sphere is 42 cm. What is the volume of the sphere?

Options:
| % 36808 cm’

5 % 34808 cm’

3 38808 cm’

L% 36878 cm®

Question Number : 112 Question Id : 54592712434 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
T et & T37ar 42 SHT. 31 & &7 g+ 747 57

Options:

36808 W.HY.3

1. =

34808 A3

38808 A3

3.9

36878 W.HI3

Question Number : 113 Question Id : 54592712435 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
The sides of a triangle are 10 ¢, 12 cmand 13 cm. What is the area of triangle?

Options:

48 cm?
1. %



5 60 cim-

54 cm?

56 cm?

Question Number : 113 Question 1d : 54592712435 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
e TRg T 9T 10 |At, 13 #AT, TuT 13 it 1 B @ yawd = 57

Options:

48 A2

1. =

60 T. 32

o o

54 {.HT?

3%

56 H.HT2

4 ®

Question Number : 114 Question 1d : 54592712436 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

& brick measures 20 cm x 12.5 cm x 15 cm. How many bricks will be required for a well 50 metre long, 4
metre high and 1.5 metre thick?

Options:

1. % 100000
= ¥ 20000
2% 24000

4. ® 96000

Question Number : 114 Question Id : 54592712436 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

UF 5T FTHT 20 H.HF % 12,5 A x 15 F.01 81 S0 Hiet o, 4 Bt Jeh 3207 1.5 Hied 01 0 17 & [o] a1 sel &l
MTSTEaT e

Options:
1. % 100000

2. ¥ 30000
2% 54000
4. % 96000



Question Number : 115 Question Id : 54592712437 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
The table given below shows the number of fermale workers working in different factories,

. Number of female
Factories :
workers
F1 800
F2 900
F3 950
F4 1120
F5 1220

what are the average number of female workers working per factory?
Options:

1. % 998

= #1000

3% 1002

4. % 1004

Question Number : 115 Question Id : 54592712437 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
e &1 1 i Tty St i @ o ot fEe st o de ot et

it REYAT FATIE
HEAr
Fl 800
F2 900
F3 950
F4 1120
F5 1220

TR BT T o Tt Wi oreeTit T st e e 27
Options:

1.9 993

2. % 1000

3% 1002

4. % 1004

Question Number : 116 Question Id : 54592712438 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25



The table given below shows the number of shirts washed by a washerman on different days of a week.

Dayvs Number of shirts
D1 126
D2 149
D3 178
D4 195
D5 203
D6 214

The nurnber of shirts washed by washerman on day D3 is how much more than the average of shirts washed
by washerman per day?

Options:
1. %01
2 ¥ 05
3. %5

4 % B3

Question Number : 116 Question Id : 54592712438 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Tl I B FTieierT 5 o Ty TeT O elfell T et T2t ST ol ST @ gaid T gl

foer wHAT & gE
D1 126
D2 149
D3 178
D4 195
D3 203
Dé 214

TeA D3 U¥ elfell ERT 1T T8 i iAT T Hea uid e otell @R ot e aitAr S sftad & T srfder g7
Options:

1. % 0.1

2 ¥ 05

3. %5

4 ® g3

Question Number : 117 Question Id : 54592712439 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25



The pie chart given below shows the nurmber of flowers of different colours in a shop. The number is showr as
a percentage of total number of flowers in the shop.

Wwhat is the difference in central angle of sectors for C1 and <47
Options:

1. % 12°

Z % 14°

3. % 1g°

4. 9 18"

Question Number : 117 Question Id : 54592712439 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

<t T Tt e o uer gt # T T o el S T ST 81 S, Gt H Gl i e ST o Hidad & o o garidr
T 8l

C1 TT C4 o TUE FT e 17 F 0T ST FT 57
Options:

1. % 12°

= % 14°

3. % 1g°

4. 9 13°

Question Number : 118 Question Id : 54592712440 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25



The line graph given below shows the number of persons visiting the hotel on different days of a week.

700
600
300
400
300
200 -
100

{::I T T T T T T 1
D1 D2 D3 D4 D5 D6 D7

Num ber of persons

Days

What is the percentage increase in number of persons visiting the hotel on day D3 to day DE?
Options:

1. % 11925 percent

2. % 129 25 percent

Z. ¥ 139 25 percent

4, % 149 25 percent

Question Number : 118 Question Id : 54592712440 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
=t e T T T g o Aty ot o gted s aret it S wET ® gt 8

700 -
600
500 4
400 -
300 A
200 1108 112
100 { *—

0

386

wafdaal #r gaar

D1 DI D3 D4 D5 D6 D7

=

TADS F A DE T% Flea AT aT6 it ol Tl Nidad § Jhe 747 57
Options:
1. % 119 25 nidaT

= ® 129 25 gidad
= % 139 25 uidad
4 % 149 25 giaad



Question Number : 119 Question Id : 54592712441 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
The bar graph given below shows the number of male workers working in a different Jute factories,

Lh

=

=
I

Laa
1]

324
300 S 2136 248 [ ] ]

200

100 +

Num ber of male workerys

£ J2 I3 J4 I5 I6

Jute factory

what is the average number of male workers working per Jute factory?
Options:

1. ¥ 31333

Z % 3TZ 3=

3. ¥ 35333

4. % 37333

Question Number : 119 Question Id : 54592712441 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
et Tz T grE T uw T S st § e 9 18 5 o B ST @ g didT gl

500
400

.qE 300 9 235 248
% 200 -+
100 -

0

Lak
ds
£

1 J2 J3 J4 I5 Jo

T

ia S Sere T H W W g o0 AT T STTET T T & 57
Options:

1. ¥ 31333

2 % 33333

3 ® 35333

4. % 37333

Question Number : 120 Question Id : 54592712442 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 1 Wrong Marks: 0.25
The line graph given below shows the number of T-shirts sold by a shopkeeper on different davs.

300 - 77 694 726
700 "
600 2
500 -
400
300 -
200
100 -

D T T T T T 1
DI D2 D3 D4 D5 56

MNum ber of T-shirts

Days

What i5 the total number of T-shirts sold by shopkeeper on all the & days?
Options:

1. % 3436

Z % 2448

3. % 3846

4. ¥ 2956

Question Number : 120 Question Id : 54592712442 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
e T T T R U g e e Tt Teat ue s e - e i g

800 A 672 94 126
700 4 "

il S
500 ~on

400 1
300 1
200 1
100 -

ﬂ T T T T T 1
DI D2 D3I D4 D5 56

H-we & wm

il 5 T 7T gPHeR g st wit S1- a1t ger |t e g7
Options:
1. ¥ 34386

2. % 3448
3. % 3246
4. ¥ 3958

General Englishl



Group Number :

Group Id :

Group Maximum Duration :
Group Minimum Duration :
Revisit allowed for view? :
Revisit allowed for edit? :
Break time:

Group Marks:

Revisit allowed for group Instructions? :

Maximum Instruction Time:
Minimum Instruction Time:

7
545927617
0

0
No
No
0
20
Yes
0

0

eneral Englishl

Section Id : 545027617

Section Number : 1

Section type: Online

Mandatory or Optional: Mandatory

Number of Questions: 20

Number of Questionsto be attempted: 20

Section Marks: 20

Display Number Panel: Yes

Group All Questions: No
Sub-Section Number : 1
Sub-Section Id: 545927739
Question Shuffling Allowed : Yes

Question Number : 121 Question Id : 54592712443 Question Type: MCQ Option Shuffling: Yes Display Question Number :
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Find the part of the given sentence that has an error in it If there is no error, choose ™o error’.

The swirring (1) | ermerged (2) | from the water () [ No error (4)
Options:
1.v1
2. % 2
3% 3
4 % 4

Question Number : 121 Question Id : 54592712443 Question Type: MCQ Option Shuffling : Yes Display Question Number :
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Find the part of the given sentence that has an error in it If there is no error, choose To error,

The swirmrming (1) | emerged (&) | from the water () [ No error (4)
Options:
1.v1
2. %2
=% 3



4. % 4

Question Number : 122 Question Id : 54592712444 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Find the part of the given sentence that has an error in it If there is no error, choose To error,

[ hawe no (1) | monetary motives (&) [ to helping vou (3 ). No error (4)
Options:
1.% 1
2 %2
IV 3
4 % 4

Question Number : 122 Question Id : 54592712444 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Find the part of the given sentence that has an error in it If there is no error, choose To error,

[ hawe no (1) | monetary motives (2) | to helping vou (3) | Mo error (4)
Options:
1.% 1
R
2V 3
4 % 4

Question Number : 123 Question Id : 54592712445 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Find the part of the givenl sentence that has an error in it. If there is no error, choose ‘MNo error’.

Love of (1) [ money is the (&) [ route of all evil (Z) [ No error (4)
Options:
1. %1
2. w2
3 ¥ 3
4 % 4

Question Number : 123 Question Id : 54592712445 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Find the part of the given sentence that has an error in it If there is no error, choose To error,

Love of (1) [ money is the (&) [ route of all evil (3) [ No error (4)
Options:
1.%1
2 %2
¥ 3
4 % 4



Question Number : 124 Question Id : 54592712446 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Find the part of the given sentence that has an error in it If there is no error, choose To error,

Let us (1) proceed with (2) the work (3) | Mo error (4)
Options:
1.% 1
2. %2
=% 3
4 ¥ 4

Question Number : 124 Question 1d : 54592712446 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Find the part of the given sentence that has an error in it. If there is no error, choose ‘No error’.

Let us (1) proceed with (2) the worl: (33 | Mo error (4)
Options:
1.% 1
2. %2
3. %3
4 ¥ 4

Question Number : 125 Question Id : 54592712447 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Find the part of the givenl sentence that has an error in it. If there is no error, choose Mo error’.

He baoth weon (1) [ a8 prize and (2) | a scholarship (31 ). BNo error (4)
Options:
1.¥v 1
2. % 2
3% 3
4 % 4

Question Number : 125 Question Id : 54592712447 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Find the part of the given sentence that has an error in it If there is no error, choose To error,

He both won (1) | 8 prize and (2) | a scholarship (3) /. MNo error (4)
Options:
1.¥ 1
2. %2
=% 3
4 % 4

Question Number : 126 Question 1d : 54592712448 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25



Improve the bracketed part of the sentence.

One may accomplish (much) things by a little effort.
Options:

1. ® most

2. ¥ many

2 % any

4. % Mo [mprovernernt

Question Number : 126 Question Id : 54592712448 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Improve the bracketed part of the sentence.

Cne may accormplish (muach) things by a little effort.
Options:

1. % most

Z ¥ many

3% any

4. % INo lmprovernernt

Question Number : 127 Question Id : 54592712449 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
[rnprove the bracketed part of the sentence,

The enermies hawve) defeated our army.
Options:

1. % has

2. % s

= % are

4. % No Improvermnent

Question Number : 127 Question 1d : 54592712449 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Improve the bracketed part of the sentence.

The enemies thawve) defeated our army.
Options:
1. % has

2% s
3. % are

4.9 Mo Improverment

Question Number : 128 Question Id : 54592712450 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Improve the bracketed part of the sentence.

The teacher was pleased (from) the boy's work.



Options:
1. % with
Z % o
3. % at

4. % No Improverment

Question Number : 128 Question Id : 54592712450 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
[rmprove the bracketed part of the sentence,

The teacher was pleased (from) the boy's work,
Options:

1. ¥ with

Z % o

3. % at

4. % No Improvermnent

Question Number : 129 Question Id : 54592712451 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Improve the bracketed part of the sentence.

The legend itell) us how the castle received its narme.
Options:

1. % telling

2 ¥ tells

2. % wll telling

4. # Mo Improvermnent

Question Number : 129 Question Id : 54592712451 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Improve the bracketed part of the sentence.

The legend (tell) us how the castle recerved its name.
Options:

1. % telling

2. ¥ tells

3. % wall telling

4. % No Improvernent

Question Number : 130 Question Id : 54592712452 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
[mprose the bracketed part of the sentence,

All desire wealth (@ls0) Sorme acquire it
Options:
1. ¥ and



2% =0
3. % even

4. % Mo [mprovernernt

Question Number : 130 Question Id : 54592712452 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
[mprose the bracketed part of the sentence.

All desire wealth (als0) sormne acquire it
Options:

1. % and

2. % 30

2% even

4. % INo lmprovernernt

Question Number : 131 Question Id : 54592712453 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
A sentence has been givernl with a blank to be filled with an appropriate word. Choose the correct alternative,

He dived ______ the river.
Options:

1. % in

2 ¥ into

3 ® at

4. % under

Question Number : 131 Question Id : 54592712453 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
& sentence has been given with a blank to be filled with an appropriate word. Choose the correct alternative.

He dived ______ the river.
Options:

1. % in

2. ¥ into

2% at

4. % under

Question Number : 132 Question Id : 54592712454 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
& sentence has been Ziverl with a blarnlk to be filled with an appropriate word. Choose the correct alternative.

The wheel carne ______.
Options:

1.9 off

2. %in

3. % ower



4. % dowtl

Question Number : 132 Question Id : 54592712454 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
& sentence has been given with a blarnk to be filled with an appropriate word. Choose the correct alternative.

The wheel came
Options:

1. ¥ off

2. %in

3. % over

4. % dowrl

Question Number : 133 Question 1d : 54592712455 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
A sentence has been givernl with a blank to be filled with an appropriate word. Choose the correct alternative,

I have not slept yesterday.

Options:
1. % for
2. %in
2. ¥ since

4. % on

Question Number : 133 Question Id : 54592712455 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
& sentence has been given with a blank to be filled with an appropriate word. Choose the correct alternative.

I hawe not slept yesterday.

Options:
1. % for
2. % in
2. ¥ since

4. % on

Question Number : 134 Question Id : 54592712456 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
& sentence has been given with a blarnk to be filled with an appropriate word. Choose the correct alternative.

The path leads the woods.

Options:

1. * through
2. % though
3. ¥ into

4 % at



Question Number : 134 Question Id : 54592712456 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
A sentence has been givernl with a blank to be filled with an appropriate word. Choose the correct alternative,

The path leads the woods,

Options:

1. * through
2. % though
3. v into

4 % at

Question Number : 135 Question 1d : 54592712457 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
& sentence has been given with a blank to be filled with an appropriate word. Choose the correct alternative.

The carriage ______

Options:
1. ¥ mowved

2. % mowve
2. % moving

4. % has move

Question Number : 135 Question Id : 54592712457 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
& sentence has been given with a blank to be filled with an appropriate word. Choose the correct alternative.

The carriage
Options:
1. ¥ moved

2. % move
3% moving

4. % has move

Question Number : 136 Question Id : 54592712458 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
A sentence has been given with a blank to be filled with an appropriate word. Choose the correct alternative,

It was his ______ chance.
Options:

1. % ones

2. ¥ only

= % such

4 % while

Question Number : 136 Question Id : 54592712458 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25



& sentence has been given with a blank to be filled with an appropriate word. Choose the correct alternative.

Itwashis ______ chance.
Options:

1. % ones

2. ¥ only

= % such

4. % while

Question Number : 137 Question Id : 54592712459 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
& sentence has been given with a blank to be filled with an appropriate word. Choose the correct alternative.

that day I hawe ot seen her,

Options:

1. % From
2. % For
2% Still
4. ¥ Since

Question Number : 137 Question Id : 54592712459 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
A sentence has been given with a blank to be filled with an appropriate word. Choose the correct alternative,

that day I have not seen her,
Options:
1. % From

2. % For
= % Still
4 % Since

Question Number : 138 Question 1d : 54592712460 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
& sentence has been given with a blank to be filled with an appropriate word. Choose the correct alternative.

We rmust find ______ way out of it.

Options:
1. % still

2 % some
=% gl

4. % up

Question Number : 138 Question Id : 54592712460 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
& sentence has been given with a blank to be filled with an appropriate word. Choose the correct alternative.

We must find way out of it.



Options:

1. % still
2. ¥ some
2% yell

4. % up

Question Number : 139 Question Id : 54592712461 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

The question below consists of a set of labeled sentences. Out of the four options given, select the most logical
order of the sentences to form a coherent paragraph.

F: nothing can happen
2 will and sanction

E: god 15 the supreme
5 power without whose

Options:

1. ¥ RESQF
2. % PORS
2. % SROP
4 % ROFS

Question Number : 139 Question Id : 54592712461 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
The question below consists of a set of labeled sentenices. Out of the four options given, select the most logical
order of the sentences to form a coherent paragraph.

P: nothing can happen
O will and sanction

E: god is the supreme
S: power without whose

Options:

1. ¥ RSP
2. % PORS
I % SROP
4 % ROPS

Question Number : 140 Question Id : 54592712462 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

The question below consists of a set of labeled sentenices. Cut of the four options giver, select the most logical
order of the sentences to form a coherent paragraph.

F: colours were 50 beautifully
2 the different shades of

E: laid that they deceived

S everl the sharpest eyes

Options:

1. % PORS
2. % SROP
2. ¥ OPRS



4. % QRPS

Question Number : 140 Question Id : 54592712462 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

The question below consists of a set of labeled sentences. Out of the four options given, select the most logical
order of the sentences to form a coherent paragraph.

F: colours were 50 beautifully
& the different shades of

E: laid that they deceived

S: everl the sharpest eyes

Options:

1. % PQRES

2. % SREGQF

3. ¥ OFRS

4. % QREFS
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Question Number : 141 Question 1d : 54592712463 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 1 Wrong Marks: 0.25

The question below consists of a set of labeled sentenices. Cut of the four options giver, select the most logical
order of the sentences to form a coherent paragraph.

F: every situation of life has a blending of good and evil,

3 there is nothing absolutely bad as there is nothing absolutely good.

E: our sorrows and sufferings purify our soul.

S: everl the worst and the darkest situations of life have some elements of goodness in it.

Options:

1. % PORS
2. % SROP
3 ¥ POSE
4 % PRSQ

Question Number : 141 Question Id : 54592712463 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

The question below consists of a set of labeled senterices. Out of the four options given, select the most logical
order of the sentences to form a coherent paragraph.

F: every situation of life has a blending of good and evil,

2 there is nothing absolutely bad as there is nothing absolutely good.

E: our sorrows and sufferings purify our soul.

S everl the worst and the darkest situations of life have some elements of goodness in it.

Options:

1. % PQRES
2. % SROP
= ¥ POSE
4 % PR5SQ

Question Number : 142 Question 1d : 54592712464 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Zhoose the word that means the same as the givenn word.

Zrave
Options:

1. * Whisper
2. ¥ Yearn
2. % Plead

4. % Control

Question Number : 142 Question Id : 54592712464 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
“hoose the word that means the same as the given word.

_rave
Options:

1. * Whisper
2. ¥ Yearn
2. % Plead



4. % Control

Question Number : 143 Question Id : 54592712465 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Zhoose the word that 15 opposite in meaning to the given word.

Vice

Options:

1. ¥ Virtue
= % Flaw

3. % Elermish
4. % Sick

Question Number : 143 Question 1d : 54592712465 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
_hoose the word that is opposite in meaning to the given word.

Wice

Options:

1. ¥ Virtue
2. % Flaw

2. % Elernish
4. % Sick

Question Number : 144 Question Id : 54592712466 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Zhoose the word that means the same as the given word.

Warne
Options:

1. % Stable
2. ® Increase
3. % Rise

4. Decline

Question Number : 144 Question Id : 54592712466 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Choose the word that reans the same as the given word.

Warle
Options:

1. % Stable
= % Increase
3. % Rise

4. ¥ Decline



Question Number : 145 Question Id : 54592712467 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
_hoose the word that is opposite in meaning to the given word.

Sacred
Options:

1. % Loved
2. % Divine
3. ¥ Profane

4 * Revered

Question Number : 145 Question 1d : 54592712467 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Zhoose the word that is opposite in meaning to the given word.

Sacred
Options:

1. % Loved
2. % Divine
2. ¥ Profane
4. % Revered

Question Number : 146 Question Id : 54592712468 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
“hoose the word that means the same as the given word.

Placid

Options:

1. ¥ Tranquil
Z % Jazzy

3. # Loud

4. % Turbulent

Question Number : 146 Question Id : 54592712468 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
_hoose the word that rmeans the same as the given word,

Placid
Options:

1. ¥ Tranquil
2 ® Jazzy

2. % Loud

4. % Turbulent

Question Number : 147 Question 1d : 54592712469 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25



In the given question, four words are given out of which one word is correctly spelt. Choose the correctly spelt
WOrd.

Options:

1. % Medeival
2. % Medievel
3. ¥ Medieval
4. % Medival

Question Number : 147 Question Id : 54592712469 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

In the given question, four words are given out of which one word is correctly spelt. Choose the correctly spelt
word.

Options:

1. % Medeival
2. % Medievel
3. ¥ Medieval
4. % Medival

Question Number : 148 Question Id : 54592712470 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Ir1 the given question, four words are given out of which one word 15 correctly spelt. Choose the correctly spelt
wiord.

Options:

1. ¥ License
2. % Lisense
2. % Lisence

4. ¥ Laiserice

Question Number : 148 Question Id : 54592712470 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

In the given question, four words are given out of which one word is correctly spelt. Choose the correctly spelt
WOTrdl.

Options:

1. ¥ License
2. % Lisense
2. % Lisence

4. % Laisence

Question Number : 149 Question Id : 54592712471 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

In the given question, four words are given out of which one word is correctly spelt. Choose the correctly spelt
o,

Options:
1. % Maintinance

2. % Maintanance



2. % Mantainance

4 % Maintenance

Question Number : 149 Question Id : 54592712471 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

In the given question, four words are given out of which one word is correctly spelt. Choose the correctly spelt
WOrd.

Options:

1. ¥ Maintinance
Z. % Maintanance
3. # Mantainance

4. ¥ Maintenance

Question Number : 150 Question Id : 54592712472 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

In the following questiorn, out of the given four alternatives, select the alternative which best expresses the
meaning of the Idiom | FPhrase.

Elack sheep

Options:

1. % An irmominent danger

= % Toabuse

2. ¥ An undesirable company

4 % 4 yseless search

Question Number : 150 Question Id : 54592712472 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

In the following question, cut of the given four alternatives, select the alternative which best expresses the
meaning of the Idiom Phrase.

Elack sheep

Options:

1. % An irmrminent danger

2. % Toabuse

2. ¥ An undesirable company

4 % A 3eless search

Question Number : 151 Question Id : 54592712473 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

In the following question, out of the given four alternatives, select the alternative which best expresses the
meaning of the Idiom {Phrase.

Let bygones be bygones
Options:

1. ® To go somewhers

= % To forgive and forget

2. # Meat and tidy



4. % An honour

Question Number : 151 Question Id : 54592712473 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

In the following questiorn, out of the given four alternatives, select the alternative which best expresses the
meaning of the Idiom | Phrase.

Let bygones be bygones
Options:

1. % To go somewhers

= ¥ To forgive and forget
3. % MNeat and tidy

4 % An honour

Question Number : 152 Question 1d : 54592712474 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

In the following question, cut of the given four alternatives, select the alternative which best expresses the
meaning of the Idiom Phrase.

To take one’s hat off
Options:

1. ¥ To praise someone
2. % To blunder

2. % Put your hat down

4. % A close thing [experience

Question Number : 152 Question Id : 54592712474 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

In the following question, out of the given four alternatives, select the alternative which best expresses the
meaning of the Idiom (Phrase.

To take one’s hat off
Options:

1. % To praise someonse
Z % Toblunder

2. # Put your hat down

4. % A close thing [experience

Question Number : 153 Question Id : 54592712475 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Choose the word that can substitute the given sentence.

Fit to e eaten
Options:

1. # Drawrn
2. % Fragile
2. ¥ Edihble



4. % Inedible

Question Number : 153 Question Id : 54592712475 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Choose the word that can substitute the given sentence.

Fit to be eaten
Options:

1. ® Drawn
= % Fragile
2. ¥ Edible
4. % Inedible

Question Number : 154 Question Id : 54592712476 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Choose the word that can substitute the given senterice.

One, too strong to be overcoms
Options:

1. # Illegible

Z % Inaudible

2. ® Indelible

4 ¥ Invincible

Question Number : 154 Question Id : 54592712476 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Zhoose the word that can substitute the given sentence.

One, to0 Strong to be overcomes
Options:

1. % Illegikle

2. % Inaudible

2. % Indelible

4 % Invincikble

Question Number : 155 Question 1d : 54592712477 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Zhoose the word that can substitute the given sentence.

one, who offers one's services
Options:

1. ® Servant

2. % Virgin

3. ¥ Volunteer

4. ® Secretary



Question Number : 155 Question Id : 54592712477 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Choose the word that can substitute the given sentence.

Cmne, who offers one’s services
Options:

1. % Servant

2. % Wirgin

2. ¥ Volunteer

4. ® Secretary
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Question Numbers: (156 to 160)
Juestion Label - Comprehension

Read the following information carefully and answer the given questions.

There is a pressing need to evaluate the quality of arts and teaching in formal education and for curriculum
development. An initial survey of the arts in normal education in mernber states was conducted in the
preliminary phase of the "culture”, creativity and the young project. This provided valuable information on the
structures of provision for the arts in formal educations in schools. It confirmed that existing patterns of
provision for the arts in schools vary considerably between member states. An important factor is the extent to
which the school curriculum, in general, is specified centrally. In some courntries, there are strict prescriptions
in content and assessment Criteria to be followed by schools and teachers in all subjects.

In others, there is freedorn within national frameworks for schools and teachers to develop their owr
curricular content and teaching methods. In some countries, the arts are giverl a positive profile in national
policy staterments and schools are strongly encouraged to develop them both within and outside the formal
curriculurm. In general terms, this is not the case. All policy staternents on national education routinely
emphasize the importance of the cultural dimension and of promoting creative abilities. The necessity of
engaging children in the practice and study of the arts is also emphasized. For the most part, the main
disciplines taught are art and music.

In the majority of national systems, they are cormpulsory in primary education and for the first two or three
years of secondary education. Bevond that point they almost universally, become optional. In all cases, the
arts hawve a lower status than mathermatics and science. In all countries, significant processes of reform in
hand in the substance and the management of educational systerns. In some serious attermpts are being made
to re-evaluate the place and significance of the arts and in particular the relations of children, teachers, and
artists. There is a need for further information and debate on the content, style, and quality of arts teaching in
schools and on its perceived value and effects for young people themsalves.

Sub questions

Question Number : 156 Question Id : 54592712479 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
which of the following is opposite in meaning to provision?

Options:
1. = Catering
2. % Cutline

Z. % Removal



4. % Foundation

Question Number : 157 Question Id : 54592712480 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Why 15 it dermmanded to stress the quality of arts education in curriculum developrment?!

Options:

1. ® Young people are misguided in their conception

2. % Toengage youth in a productive manner

= % with the help of youth, the arts can be developed further

4. % Mo option is correct

Question Number : 158 Question 1d : 54592712481 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
How do the existing patterns of provision for the arts in schools vary considerably betweern the member states?

Options:
1. % The most important factor is the extent to which the school curriculum in general is specified centrally
2. % There is a lack of funding in art education at various levels

Z. % The most important factor is the extent to which the school curriculum in general is specified centrally
and There is a lack of funding in art education at various levels.

4. % DNo option is correct

Question Number : 159 Question Id : 54592712482 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
which of the following statements is false?

Options:
1. ¥ Arts have lower status than the science
2 % Education curriculum can be dewaeloped through art education

Z. % Arts have lower status than the science and Education curriculurm can be developed through art
aduCation.

4. % Mo option is correct

Question Number : 160 Question Id : 54592712483 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0.25
The passage thematically centres on:

Options:
1. v d Inclusion of art education in main curriculum framework
2. % Drawbacks of the education systern on the younger generation

3. % Inclusion of art education in main curriculum frameworkand Drawbacks of the education system on the
FOUTZET SETIEration.

4. % DNo option is correct

Question Id : 54592712478 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (156 to 160)
Juestion Label - Comprehension



Read the following information carefully and answer the given questions.

There is a pressing need to evaluate the quality of arts and teaching in formal education and for curriculum
development. An initial survey of the arts in normal education in mernber states was conducted in the
preliminary phase of the "culture”, creativity and the young project. This provided valuable information on the
structures of provision for the arts in formal educations in schools. It confirmed that existing patterns of
provision for the arts in schools vary considerably between member states. An important factor is the extent to
which the school curriculum, in general, is specified centrally. In some courntries, there are strict prescriptions
in content and assessment Criteria to be followed by schools and teachers in all subjects.

In others, there is freedorn within national frameworks for schools and teachers to develop their owr
curricular content and teaching methods. In some countries, the arts are giverl a positive profile in national
policy staterments and schools are strongly encouraged to develop them both within and outside the formal
curriculurm. In general terms, this is not the case. All policy staternents on national education routinely
emphasize the importance of the cultural dimension and of promoting creative abilities. The necessity of
engaging children in the practice and study of the arts is also emphasized. For the most part, the main
disciplines taught are art and music.

In the majority of national systems, they are cormpulsory in primary education and for the first two or three
years of secondary education. Bevond that point they almost universally, become optional. In all cases, the
arts hawve a lower status than mathermatics and science. In all countries, significant processes of reform in
hand in the substance and the management of educational systerns. In some serious attermpts are being made
to re-evaluate the place and significance of the arts and in particular the relations of children, teachers, and
artists. There is a need for further information and debate on the content, style, and quality of arts teaching in
schools and on its perceived value and effects for young people themsalves.

Sub questions

Question Number : 156 Question Id : 54592712479 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
which of the following is opposite in meaning to provision?

Options:

1. * Catering
2. % Outline

2. ¥ Rermoval

4. % Foundation

Question Number : 157 Question 1d : 54592712480 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Why is it demanded to stress the quality of arts education in curriculurn developrment?

Options:

1. * Young people are misguided in their conception

2. ® Toengage vouth in a productive manner

2. % With the help of youth, the arts can be developed further
4. % DN option is correct

Question Number : 158 Question Id : 54592712481 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Howe Ao the existing patterns of Provision for the arts in schools vary considerably etweoen the mernber states?

Options:
1. % The most important factor is the extent to which the school curriculum in general is specified centrally
2. % There is a lack of funding in art education at various levels

2. % The most important factor is the extent t0 which the school curriculum in general is specified centrally
and There is a lack of funding in art education at various levels,



4, % No option is correct

Question Number : 159 Question Id : 54592712482 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
which of the following staterments is false?

Options:
1. # Arts have lower status than the science
2. % Education curriculum can be developed through art education

= % Arts have lower status than the science and Education curriculum can be developead through art
education.

4. % Mo option is correct

Question Number : 160 Question Id : 54592712483 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
The passage thematically centres ol

Options:
1. \ 4 Inclusion of art education in main curriculum framework
2. % Drawbacks of the education systern on the younger generation

Z. % Inclusion of art education in main curriculum frameworkand Drawbacks of the education systerm on the
FOUNZer generation.

4. % Mo option is correct
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Question Number : 161 Question Id : 54592712484 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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TeragT T amere T R T SiEeT & ATT e

[EEECRICIE

Options:

1. % ampde
2. ¥ TEHE
3 % IRomeE

4. % 9w



Question Number : 163 Question 1d : 54592712486 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Correct Marks: 1 Wrong Marks: 0.25
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Correct Marks: 1 Wrong Marks: 0.25
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Correct Marks: 1 Wrong Marks: 0.25
TEIT T aTergTaT oF 16T ST Sfeg T oo i

FUT & ST &
Options:

1. % fogmmt
o % it
3. % amHT

4, & FedTTAT

Question Number : 168 Question Id : 54592712491 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
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Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 169 Question Id : 54592712492 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
T ™y sreg w7 AR deg ST d i

W



Options:
1. % gz
o o daw
3. ® Eed
4. % oy
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Correct Marks: 1 Wrong Marks: 0.25
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Correct Marks: 1 Wrong Marks: 0.25
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Correct Marks: 1 Wrong Marks: 0.25
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Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 1 Wrong Marks: 0.25
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TR # & W A7 ae T O &7 JaRe a5

Options:

1. % I8 a5 T GTT AT IHE FTE 7 2
o ¥ FTATFE R E T anfr T S B



3. % S BT S UgT, 9% SATERRT & T
4. ¥ TAMER s &1 T4 TFAE w8

Question Number : 185 Question 1d : 54592712508 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
TraiET # & 1 AT are W O #7 SR Anl 57

Options:

1. % 6 a5 T G AT FEF ATE T 4
2. % S 9F g 15 & o STl T S0 gl
3. % 39O UT, 9F SATEWT & T2
4, & TAMER RE F1 T4 TFAE Fd 8

Question Number : 186 Question Id : 54592712509 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
T My @t ¥ = F ugae St

THI o & Ja¢d 51 st amet 212 12
Options:

1. % |/

2. % wgm

. % iy

4. ® ayamsia

Question Number : 186 Question Id : 54592712509 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
ToTT T =T & 9 T g i

THI o & 397 51 el e 218 12
Options:

1. ¥ 9t

2. % wgm

3. % T

4. ¥ i

Question Number : 187 Question 1d : 54592712510 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Tt # & i A e ST A Y
Options:

1. % gag

2. ® mHe

3. % AT

4. ¥ JUg

Question Number : 187 Question Id : 54592712510 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25



TrgfeeT & & @ 47 Jeg Sie 751 27
Options:

1. % gag

= ® mEA

3. % ST

4. ¥ JUg

Question Number : 188 Question Id : 54592712511 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
TerafefET g # fau o = Rt § 4 79 e &1 = & S iy mr gere & anf #1 wdie w0 & oo Fear 8

= Tdelt # 9 751 Teweran
Options:

1. % ST mareT 2 e

2. % Haw e EA

3. % dagw wamhl

4 & UF TEl | T UIH TE1 BT

Question Number : 188 Question Id : 54592712511 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Tt mag # g my = Reedt #§ €, 79 e w1 e o S Ry geTer & sl @ adiy §0 @ s weaT 8l

T At # 9 75T e
Options:

1. # ST TarET €22 F

2. % T ST T

3. % dagw e

4 & UH deEl | g W AR g

Question Number : 189 Question Id : 54592712512 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0.25
Tt ng # Ty my o Rt § € 39 e @ e o S Ry T geTe & anef w1 aay w0 8 s aeaT gl

ST TS W =g W e

Options:

1 S ST BT 2 et i o B
2. % TErer gere e

3. % T T wer g g

4 % TEHT Ieal g

Question Number : 189 Question Id : 54592712512 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
femfaag wa & o 7o o fawedt # 4 39 fwen w1 ae o S oy o gere i anf 1 addE w0 & o FaT

<t T | g e g

Options:



1. & ST 3T w1 & TR T OTeard ®eaT 5l
2. % 3Trer wae FAN

3 % et T A g R

4. % TpeRg Ieal g

Question Number : 190 Question Id : 54592712513 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Tt mag # g my = Reedt #§ €, 79 e w1 e o S Ry geTer & sl @ adiy §0 @ s weaT 8l

1T T U T
Options:
1. ekt =1 =T

o, % g aEE
3. % gpd TR
4 % gdted # \Erar @

Question Number : 190 Question Id : 54592712513 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Tt ng # Ty my o Rt § € 39 e @ e o S Ry T geTe & anef w1 aay w0 8 s aeaT gl

TET T U ST
Options:
1. o= 7 =TT

2. % aEEHETaEE
S % gpd TR
4 % gtaT o G #An

Question Number : 191 Question Id : 54592712514 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
ToTT T ETerr T HET AR I @ = e

STFRATET & 5T S §1a T gl
Options:

1. % e 19 STer aea

2 % 37E - ATF A A

3. & TaeRT ATAT JEeT H
4 % ST A O AT i

Question Number : 191 Question Id : 54592712514 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
oI T ST T AR T AT T T = S )

TR & £ S B 2
Options:
1. % e F19¢ amam @29

2 % 3078 - ST ST AT



2. o AT AT IaaT
4 % T I O AT FigAN

Question Number : 192 Question 1d : 54592712515 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
TmteiET na # o 7y = Rt § € 39 e w1 wae @ S ey n geTer & sl @ adiy §0 & oo weaT 8

HIE EAHTT AT
Options:

1. % e =@

2. % 0 AR g
3 % S AT A
4. & T G 4T 2

Question Number : 192 Question Id : 54592712515 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Tt g # T my o Rt # 9 39 ey @ ae o S Ry m grTe F ol F S9ay w7 8 s aaT gl

% S el

Options:
1. % e SE-n

2. % 0 AR EA
3. % ST ST AN
4. T |7 S &

Question Number : 193 Question Id : 54592712516 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Sea! BT HigH w0 § fera- & Ty forg Termm g o wa fema <A 27
Options:

1. e

2 ® piEw

3. ® g

4 % fdaw

Question Number : 193 Question 1d : 54592712516 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

=t o T T i Ry ¥ Fo R o Rig a7 i R s 2
Options:

1. & wmaa

2 ® miEw

3. % I

4 % TEaw

Question Number : 194 Question Id : 54592712517 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25



o o T Ty oF &0 T Oga

(=)

Options:

1. % qegam®
o % arghm
3 % o e
4. & FhE

Question Number : 194 Question Id : 54592712517 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
o Ty o g % w0 & ugee dra

i)

Options:

1. % Weem=rr
2 ® argioom
3 % o e
4 GaEE

Question Number : 195 Question Id : 54592712518 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

“EET SHNT A-H T8eg e & Taae # ol a1 o =g g
Options:

1. ¥ -

2 %

3% -

4. % |

Question Number : 195 Question Id : 54592712518 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0.25

T AT AN Toeg SR ¢ fdee # &9 a1 ek =g sime
Options:

1. ¢ -

AR

38 -

4 % |

Sub-Section Number: 2
Sub-Section 1d: 545927744
Question Shuffling Allowed : Yes

Question Id : 54592712519 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (196 to 200)



Juestion Label - Comprehension

0 T Feam T 21 e 3 Sme oy ot wey Ty vy 1 merny @t e nd e nedr e # o Reent # & ag e g

ﬂﬁaﬂT Wﬂﬂmﬁmw R Bl AT T @ S o S S -gad, fed- QTIE?F -:cmi AT, u-:m '-Id>I-:I
ICE IR :@aﬁm T fet AT a5 A | ﬂaﬁﬁﬁrﬁﬁﬁqé‘
uﬁ aﬁw—&mmwm@m% ST T- ST et oy wid 3 Tt offT ﬁi?r—msw GﬁEfFﬂLElﬁ ﬂ%r
%ﬁﬁﬂﬁﬁﬁmwmﬁﬁﬁqa@aﬁﬁ@ﬁ@ﬂﬁm@ﬁaﬁ T, TaTE T 8 Far-
T HTAAT FEA T 51 ATE o5 o UN Shgd Tl (oeer # oflT Fgl To 1 oy STTd] W 1 JHrT ?ﬂ‘iﬁﬂﬂ%ﬁﬂﬁa@?m
%mqm%] ﬂqﬁaﬂws:ra%a:ﬁaﬁ?a@fmwaﬁ@ﬁ I ST & W AT T =41 T

Sub questions

Question Number : 196 Question Id : 54592712520 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
HTE-ST5 TET 9% T §7

Options:

1. ¢ gar-far & aw

2 % gerd

3 % g

4 % I F

Question Number : 197 Question Id : 54592712521 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
HI & IR AT el T e 3
Options:

1. % 7t

2. % e

= ® fegmwr

4. ¥ TET T AT A

Question Number : 198 Question Id : 54592712522 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
T TR T e T 87
Options:

1. % T ST AER

2. AT " BT EE

3. ® fhee foae

4. % TR AT

Question Number : 199 Question Id : 54592712523 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
ST T AT T & T JTea 57

Options:

1. ¥ om &1 AT )

2. % T T FvET ST T AN
3. % ATT-TUAT HT A A

4 % 0 TR HT AT )



Question Number : 200 Question 1d : 54592712524 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
ATE TE- Tl SIFTT-STAT T & ol 57
Options:

1. amat wee

o ® mE

3% I ET

. % FITET HR T FET

Question Id : 54592712519 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (196 to 200)
Cestion Label | Comprehiension

I TETTST T T 81 T 3 e ue i weg Ry Ty ¥ TR 6 s AEhe v a9 uedd e # O Seent # 9 g5t Hwew 74

ﬂﬁ;‘faﬂT Wﬁ'ﬂ'mﬁ'ﬁm TIAT 31 HIGT U o ST # |IT-81 Sl -Fad, Fsd-aed, -m:i AT, uv:m uenm
Torerer o & AT HEQTEJFIH'H T Tt T et ey it gt | o U T o STe- S5
uﬁaﬁ?w—wmwaﬁﬁm%ﬁaﬁ ST e =T o 7 T A AT 2 31 U TR Gﬁaﬁ:ﬁaﬁ 3—51‘
%ﬁmﬁmmmﬁﬁqa@mﬁwﬁ@ﬂﬁm@ﬁﬁ Hﬂﬁ?ﬁ‘lﬁﬂg T I% e AT
o1 AT T ) AT aR o U shgd Wﬁmﬁﬁaﬁm@rmmﬁﬂm ?ﬂﬂﬁﬂﬂ%ﬁﬂﬁﬂgﬂ'm
ﬁ‘mm'crr% ﬂﬁﬁ?ﬂ@?%&@aﬂ?a@mwaﬁ@ﬁ F e W7 W AT FaT =T TR

Sub questions

Question Number : 196 Question Id : 54592712520 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
ATE-=T5 FET 9% B &7

Options:

1. ¢ aET-Tiar & e

2 % g

z % g
4 % qETF W

Question Number : 197 Question Id : 54592712521 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
T G THIER ATl P A 2 37
Options:

1. % 7t

2. ® dgqrgd

3 % Tt

4. & T T A A

Question Number : 198 Question Id : 54592712522 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
T TR T e T 87

Options:

1. % TdT FT SRR



2. ¥ AT agd W EY
z. ¥ e e
4 # IR SR

Question Number : 199 Question Id : 54592712523 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
ST T AT T & FT JTed 27

Options:

1. & e T wrET )

2 % T T AT ST T A
3. % [TT-TOAT H AT A

4 % U TR T AT )

Question Number : 200 Question 1d : 54592712524 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
ATE FE- Tl SIFTT-STATT T &6 ol 57
Options:

1. amEt e

2 % Www

S ¥ U

4 R T A wE



